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Ans.
Sol.

Ans.

Sol.

Ans.

PHYSICS

What is the mode of heat transfer by which a hot cup of coffee looses most of its heat ?

(a) condiction (b) convection

(c) evaporation (d) radiation

T B & B9 H TS 8 H S & ARSI &g o Ay gry g g 2
(a) At (b) Hag-

(c) a9+ (d) fafd=or

(d)

Through radiation mainly

Two sample of air A and B having same composition and initially at same temperature T, pressure
P and volume V are taken.

A and B are be made to undergo following process :

Case 1: A and B are compressed from volume V to volume V/2. A is compressed isothermally
while B is compressed adiabatically. The final perssure are P, . and P, respectively.

Case : 2A and B are allowed to undergo expansion from volume V to volume 2V. A undergoes

while B undergoes abiabatic expansion. The final pressure of Aand B are P,_ and P__respectively.
Y & & AT ATATB BT GUeT YHAT &, TAT $91 &l YRS, M T, 19 P def Aaq V 2 |
=1 QA T DI b UhHl § I[SIRT ST B |

gud Rafd # :A & GHAMT de1 B &1 ®aIH w0 ¥ JUIfSd &) 3961 3mga+ V 9 V/2 f&a1 Sran g |
9 UHH W SHB1 ifo| &9 wee: P, der P, 81 Ol B

fadia Rafa 9 : AH gwand qen B H warw g9aR 8 8, ey 91 &1 omaad Vi 2V 81 Sl
& | 9 AT B &1 3ifed a9 Has: P, e Py 8191 8 |

ar, fremfed § 9 & a1 9 ® 7

(@ P,.=P,,anddaiP, =P, (b)P,.=P,candda P, =P,
(c)P,.>Pg.and @b, <P, (d) P, <Pg.and TP, > P,
(d)
PBC |
|
I
Puc Pl — _{
I
I
P.. I
B p—  —
|
!
V

I
I
i
V/2 \

A heat engine employing a Carnot cycle with an efficiency of n = 10% is used as a refrigerating
maching, the thermal reservoirs being the same. The refrigerating efficiency < is

DIFIC b Bl SUIN B Y U ST 591 DI G&dll = 10% © s9P U (Xhorfe) #ei=
@ A ST far Sar 8 | 39 ufdbar § &a (ReataR) a8 <gar 81 @), wefias &) qerar < grft

(@12 (b) 8

© =5 (@9
(@)

/N

Corporate Office (New Campus):CG Tower, A46 &52, IPIA,Near City Mall, Jhalawar Road, Kota (Raj.)-324005

Resonance Website : www.resonance.ac.in | E-mail : contact@resonance.acin

Educating for better tomorroW [ToIl Free : 1800 200 2244 [1800 258 5555 | CIN: Us0302R J2007PTC 024029

RPMT 27-07-14-S -2




Sol.

Ans.
Sol.

Ans.
Sol.

Ans.

Heat engine Refrigerator

10J 10J
1J 1d
8:%:9
9J a9J
sink sink

A flask contains argon and chlorine in the ratio 3 : 1 by mass. The temperature of the mixture is
300 K. If atomic mass of argon = 39.9 u, and molecular mass of chlorine = 70.9u, then then the
ratio of average kinetic energy per molecule of argon to chlorine gas is

TP TARD H AR T TR BT g9 3: 1 & o # 2| 39 Ao &1 aw 300K & | afe
R BT URATY] S = 39.9 u T FARM BT 37 G =70.9 u & I, 3FA T FARN Bl

gfel uRATY] SHa S SHoflel Bl HHI: U B |
@a1:1 (0) 3: 1
©1:3 (d)39.9:70.9
(@)

KE average is dependent on temp. only not on nature of gas. so ans.(a)

A particle is oscillating freely with a natural frequency w, and amplitude a. It is later subjected to a
damping force proportional to its velocity and keeps oscillating with a frequency o. Which of the
following statementis true. ?

(@) o = o, and the amplitude is not affected

(b) ® <, and the amplitude decreases with time

(c) ® <o, and the amplitude remains the same

(d) ® = o, and the amplitude keep decreasing with time

Had Slei BRd §Y UD YT bl MWD Mg w, TA1 MM a s | 39 WR b fqded gl JRIMI fdhal
S & S Y1 & 99 & FAURT 8 | §9 & U9 ¥ I8 B o AGFI A aled dRal o | al Freifda
H 9 B A HIT Fel 9g 8 ?

(@) o = o, TAT M IYHTFIT T 2 |

(b) o < @, T IJUH FHY & A1 B BIAT &dl 8 |

(C) © < @, TAT AM JE & 8

(d) o = 0, T JFH FII & A1 HH A1 &A1 °

(b)

o < o, & amplitude will decrease with time

A proton and a deuteron moving with equal kinetic energies enter perpendicularly in a region of
magnetic field B. If r and r, are the radii of circular paths taken by proton and deuteron respectively,

I
the ratio rA would be
p

G IS Soll ¥ A SR gY, Yeb WIS dA1 U SgReid, B dlgdl & gy &3 & Uaw o |
Uh R B oA faem #, gae oxd 2| e gEeT &5 7 g6 qAeR il & Broemd dmAen -

Ty
AT 1, B Al Bl A B
P

1 1
(@) 2,2 (b) 75 Ol (@2
[Bonus/b]
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Sol.

Ans.

Sol.

Ans.

Sol.

o) é:ﬁ (None of the given answers)

Two inductance coils of inductance L, and L, are kept at sufficiently large distance apart. On
connecting them in parallel their equivalentinductance will be
1 YRS Hefordl & U L, AL, & | 39h1 U §R ¥ 93w g¥1 WR W AT § | §% FHIRIR B

H SiIeT W, 3BT god Udbed BT |

L, +L, L.L,

@ L, ® T, ©L,+L, (d) JLi,
(b)

: o LsLo
Leq in parallel, is given by Log = L +L,

A series LCR circular in connected to a.c. source of variable frequency . The graphical
represenration of variation of impendance ‘z’ of the circuit with frequency f will be

vg goft LCR uRu &1 uRad! mgfa f & a.c. Sd & Sl e 8 | :mafa F & arer ufcamen 27
& gRad= ¥ S Tl I 2 |

N=>
N ==

(@) (b)
o ;
1 T
Z Z
(©) (d)
© f—> © f—>
(a)
Z= JR2+(X_ -Xc ) asfTX,TX_Vso. ans (a)
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Ans.
Sol.

10.

Ans.
Sol.

1.

Ans.
Sol.

12.

Ans.

Sol.

The electric vector of an electromagnetic wave in vacuum is represented by E = 6.3jv/m. The
frequency of the wave is 20 MHz and it is propagating along the positive z-direction. At this point
magnetic vector g is

et 3 fed) fAgd grem a= &1 [&gd Af9E = 6.3jv/meRT Fefd fear Siar 8| g8 o’ +
z Qe & 3rgfae THA $R W& & AAT g G 20 MHz € @1, 39 95 W, &g 9fQw g &l
CIGESEI

(@)-2.1x10°§T  (b)+21x10°iT  (c)+4.0x10°jr  (d)-18.9x10° 7

(a)

E=6.3] (V/m)

f=20 mHz

direction of propagation = g || (Exé)

then é:%(‘ i): 35,.]?88 T(‘ ?)

=2.1x10°T (=)

A single-slit diffraction pattern is obtained using a beam of red light. if the red light is replaced by
blue light which one of the following observations is true ?

(a) no change in diffraction pattern

(b) diffraction fringes become narrower and crowded together

(c) diffraction fringes become broader and further apat

(d) diffraction pattern disappears

ATel I & YHRT G ¥ SUAN W, el 3R §RT U fdacia Ued ura fban e & | afe e 39
D UHIY & W R el [T & YH1el & YA fhar Sy a1, fifdba geon § 9 &9 91 9 81?
(a) faad= Ue+ suRafia grm

(b) faact= fibsr Tt qom g U 8 SR |

(c) fada ol <ieT @2 g% R & SRl

(d) fagd= e g« (rgw) 8 S|

(b)

Width of - maximas « A so. ans. (b)

The transition from state n = 4 to b = 3 in a hydrogen like atom results in ultraviolet radiation.
Infrared radiation may be obtained in the transition

B BIESIo WA 3§, n=4 ®WR 4 n =3 WR d& GHav (RA) § W& o s«fsa g
2| I, 37ax<h [AfBRo1 Ut 8 |ebd © A, FHA B WR

@2->1 (b)3—>2 (c)4->2 (d)y5—->4

(d)

photon of lesser energy will be produce and it will be of IR radiation so. (d) will be the answer.

In a sample of radioactive material, what percentage of the initial number of active nuclei will
during one mean life

el YfETIfded uared & U a9 (ufdes) ¥, U@ fid g & SR, YRS 9ihy (Qfded) A
&1 foa ufaea afya gem 2

(a) 63% (b) 50% () 77 % (d) 88.2 %

(a)

T, = % will then N = N (1-e") =0.37 %

s0 63% decary will take place.

/N
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13.

Ans.

Sol.

14.

Ans.

Sol.

15.

Ans.
Sol.

A nucleus of mass M + Am is at rest and decays into two daughter nuclei of ‘c’. The speed of
daughter nucleiis

M+ Am &AM S (HAMAS [IRHTERRT § 8 | I8 SRI6” E{W%, & T fageas (Sfex) et &
afya (faafed) &1 a1 2 | 91 &1 ardt 'C' g | 41, fagea (Sfex) Aiudi @ =e 81l |

(c)

1M
(AMC?) = E(EJ\FXZ

2Amc?
M

SOV =

A sinusoidal voltage of peak to peak value of 310 V is connected in series with a diode and a load
resistance R so that Half-wave rectification occurs. If the diode has a negligble forwed resistance,
the root mean square voltage across the load resistance is

310 fRER A & T UADIg dieed] &I Udh SIS a1 ddie UfeRig R 4 1ofied # S WR 3
—aRe faesdror ure Bidl 81, 1 s & RRI & 4" dieedl &l 9¥ q1eg 9o 8 |

(a)310V (b) 155V (¢)109.5V (d)77.5

(d)

@ R 155
V, sinwt
o T/2 T

V. = (ﬁjzﬁzﬁﬁvolt
rms 2 2

V, = 3;—0 =155 volt.

0
In a common emitter amplifier using output resistance of 5000 ohm and input resistance of 2000
ohm, if the peak value of input signal voltage is 10 mV and 3 = 50 then the calculated power gain
will be

fodll Swafrs S™ois (C.E.) yads |, frfa ufaRig 5000 s a3 Rivder dieedn &1 RRaR A4
10 mV &1 iR B =50 qI, aR&fed efdd o™ &1 719 811 |

(a) 6.25 x 10° (b) 1.4 (c)62.5 (d) 2.5 x 10

(a)

Power gain = current gain x voltage gain

R 5
Voltage gain = B R%”‘:EXW
in

s0. Power gain = 50 x 50 x g = @ =6250

/N
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16.

Ans.

Sol.

17.

Ans.
Sol.

Two metal wired having conductivities ¢, and o, respectively have same dimensions. If they are
connected in series the effective conductivity of the combination is

g1g & &1 dRI Bl [AWR (FHRIS—SIS) THHl 8 S AcThdl) HA: o, 2l o, & | 3751 A0 54
# Sl W, IS & 99T drerdal 817 |

1 +0, 51— 0, G110y 2640,
a) —= b) —= c
(@~ (b) = © o, @ 5o,
(d)

| 2 ¢ ¢ 211
InseriesR=R, +R, =7 oA oA T 5 o o

2 G1+C52 201 Go
$O. — = soG =

The figure shows a graph of current () flowing throught a cell against its terminal voltage (V). The
emf and internal resistance of this cell are

R # &l ¥ o efiFa dreedr (V) 9o SE9 vaifzd fayd ax1 (1) & 9= a6 g T 2|
al, ¥ &1 fAgd 918 de1 dorl ATARS FlaRig HHaer: 8l

(volt)

0.75

0.50 +

0.25 4

@1Vv;025Q b)y1V;4Q ©1V;1Q (d)0.25V;0.25Q
(a)
V=g—ir so y- intercept=e=1V
1
slope=—r=—z

/N
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18.

Ans.
Sol.

19.

Ans.

Sol.

A ‘Wheatstone Bridge’ circuit has been set up as shown. The resistor R, is anideal carbon. The
resistor R, is an ideal carbon resistance (tolerance = 0%) having bands of colours black, yellow
and brown marked on it. The galvanometer, in this circuit, would show a ‘null point’ when another
ideal carbon resistance X is connected across R, having bands of colours

g8l ARW H SR MY AR U DI 957 911 1 8 | 399 R, U 371ee] Hra YfoRiegs (0%
HeId) © | S ®rel, Uil dorm 93 9 &1 ufgdl 991 & | uRu H S ednier § 3 faey & ford
T Tl B YfcRIgd X Bl R, ® A1 G H=A1 gl 8 | @1, X' d 91Ral & TN Bl b, ol
R, ® W SHBI IS B

(a) black, brown, black, is putin parallel with R,
(b) black, brown, brown, is putin parallel with R,
(c) brown, black, brown, is put in parallel with R,
(d) black, brown, black, is putin parallel with R,

(a) BT, ¥R, PIeil qAT R, S A1 AR UI¥E H9 4§
(b) BT, T, X1 TAT R, S A1 FATTR 4 H

(C) =1, BIeTl, =T 21 R, & @rer Aofl A 4

(d) BIelT, 9T, BIefl TAT R, b A1 00 49 4§

(d)

R, =40 Q, in balanced condition

R,R,=R,R,
,_ 16x24
sO R,/ = 18 =8Q
_ A40R _
SO. 8_40+R =8R+320=40R
SO. R =10 Q= Black, brown, brown in parallel with R,

A particle of charge ‘q’ and mass ‘m’ move in a circular orbit of radius ‘r’ with frequency ‘v'. The
ratio of the magnetic moment to angular momentum is

'm' SFAE B UH B W ‘QAEY B | I8 B 7 1 @ gAGR Felm # v angfa A aRepAoT @R
&l g | dI, RO MY BT BN ATl ¥ rgurd 8RT

29" q" a a
(@) m () 2m ©) 2mr (d) 2m
(b)

; L_ 9
Ratio of L om

/N
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20.

Ans.
Sol.

21.

Ans.

Sol.

A rectangular loop of length 20 cm, along y -axis and breadth 10 cm along z-axis carries a current

of 12 A. If a unifrom magnetic field (0.3 + 0.4 j) acts on the loop, the torque actingon it is
(@) 9.6 x 10-*Nm along x - axis (b) 9.6 x 10-*Nm along y - axis
() 9.6 x 10>Nm along z - axis (d) 9.6 x 10-3Nm along z - axis
Qe ATGATDIR UM (]U) BT y-3181 & Jfae o=1g 20 cm AT z-3feT & 3rfaw drerg 10 cm 8 | 39
12 A% gRT Yaifed 1 I8 2 | I 39 R (0.3 + 0.4§) &1 (e 991 g &7 RING 81 d, $9
R HIRIRA Ia Mgl (Sfd) B
(a) 9.6 x 10~ Nm, x - 3f&T B Jfazr (b) 9.6 x 103Nm, y - 3181 & 3rfael
(c) 9.6 x 102Nm, z - 3181 & Jfaz (d) 9.6 x 10°Nm, z - 3181 & ez
(c)
Area of loop =20 x 10 = 200 cm?
=2 x 1072 m?

A=(2x10*2|v|2)| (as loop isin yz plane).
50. £ =NxB = i(A<B)-1
=12x2x 102 (i) x (0.3i +0.4])

=12x2x0.4x102x 102 (k) =9.6 x 102 k (Nm)

Two coherent sources S, and S, having same phase, emit light of wavelength A . The separation
between S, and S, is 2. The light of collected on a screen placed at a distance D > > A from slit S,
as shown in figure. Find the minimum distance so that the intensity at P is equal to intensity at O.

T € Dol ¥, &1 Dol Wdg Ald S, F1 S, A AR BT YHTel SN B 8 | S, T S, BT geIdh
(&) 208 | IRW H SR MY AFEAR S, 3 (W) ¥ D-g3 R Rerd Tb Ue IR Y12l bl 9T b
S g (D>>)) | @1, 98 A9 O a1 BN, difds, a5 P @ O R U&Tel & diadl |H & |

i

2 X
oy
s, S,
& B . ]
< 5]
D D
@ 2 (b) V2D (c) 73 (d) Dy3
(d)
b P
X
2%
- e—(D-20)—»
| D >

/N
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22,

Ans.

Sol.

23.

Ans.

Sol.

VD2 +x2 —\/x2 +D-207 =4

Jx2+D? —n=y/x2 +(D- 217

X2+ D2+ A2 =2 % x24D? = x°+D?+452 - 40D

2% +/x% +D? =— 332 + 43D

4(x2 + D?) = (4D —3A)2 ~ 16 D2

X+ D? = 4 D
x? = 3D?
X=.3D

Distance stars are viewed with the help of an astronomical telescope. The angular separation
between two stars which can be just resolved by the telescope.

(a) Isindependent of the diameter of the aperture of the telescope

(b) increases with the increases in the diameter of the aperture of the telescope

(c*) decreases with the increase in the diameter of the telescope aperture

(d) increases quadritically with the diameter of the telescope aperture

R Rerd dRI (WR) B T gRaed d FeFdl ¥ a@l Sl W8l 8 | & Rl & qra $ 1oy urefed
Fwer) , e greeie gr1 faves (YSiiegem) fhar o1 9ar g, 98

(a) TP & RS & AN W MR T8 H=ar

(b) GNP & gR® & A 4§ gfg BF UR 9 Sl @

(C) TN&X® & §RE & A9 H gig &1 R HH 8 ol 8

(d) SRET® & RS & A & A (gl wY 9 981 8

(c)

RP= 1507 " 20

® | =

SO AD «

A thin convex lens of refractive index 1.5 is placed in a liquid with refractive index 2.0. Then power
of the lens in airis 10 D. Then in the liquid its power will be

g H 10 D &9l & b Udel ol &l uaciid 1.58 | 59 2.0 Uacidid & &d 4 garl UR gHqd]
g B SR |

(@20D (b)y10D (c)-10D (dy-5D

/N
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24,

Ans.

Sol.

25.

Ans.

Sol.

The angle voluate of photocell is kept fixed. The wavelength (1) of the light falling o the cathode is
gradually changed. The maximum kinetic energy (K.E.) of the photoelectrons emitted varies with A
as

U Wil Hd (THE—Agd 9dl) & UArs &I dicedl &l ReR WEd gY, dHoils W Iufdd Yl
DIAGE (V) BI HHen: YRl fHa1 Srar g | a1, Icafoid UHrer [9gd setdag i« Bl Afdemad i
Foll (K.E) ®, A& A1 uRacdd 1 A1 U (M) el (STh) S2iar 87

KET KET

(a) (b)

r—> r—>

KET KET

(©) (d)

(d)

hc
KE = (7—4))

A <, for photo emission to take place
soasAy = KE

A photon of wavelength 2 (less than threshold wavelength A ) is incident on a metal surface of
work function W,. The de Broglie wavelength of the ejected electron of mass ‘m’is

febell &g 1 B Bt W, B | 39 J& W A TR (A BT 71 <8ell axieed A, ¥ B4 8), BT Bl
MUfrd AT 81 O ‘M’ TTHM &, SR Soldeid ®I S—siell aviaed gl

h h 1

(@ h{Zm[hyc—Woﬂ (b) 2m[hk—°—woj (©) 2m(h7°—woj (d h/Zm(hTC—Woj

(c)

P: Zm(h—c—(ﬂo)
A

7\,=£= h

SO. P
2m(hC - cooj
A

/N
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26.

Ans.
Sol.

27.

Ans.

Sol.

28.

Ans.
Sol.

A particle of mass m is moving in an uniform circular motion. The momentum of the particle is

(a) Constant over the entire path

(b) Constantly changes and direction of change is along the tangent

(c) Constantly chages and direction of chage is along the radial direction

(d) Constantly chages and direction of change is along a direction which is the instantaneous
vector sum of the radial and tangential direction

M S BT T HU (S gATHR Y H Y §H19 IT1d SR ET 2 | I, SHHT I

(a) ¥ AR (FF) R ReR (reR) Y& 8

(b) AR yRafidd grar &t g iR uRad+ &1 fazm v & el Y@ & sgfew & ©

(c) AR ol (3R1) faen & ergfeer uRafda grar wear §

(d) eFTarR gRafda 8rar Yedr g SR yRads & faen oy (@) den Wl 39y f&ensi &1
arerfore afeer Irr gl §

(c)

Rate of change of momentum is force which is in radial direction in unifom circular motion, so
ans. ()

A ball of mass ‘m’ moving with the velocity v collides haed on with another ball of mass m at rest, If

the coefficient of restitution is e, then the ratio of te velocities of the first and second ball after the
collisionis

‘m STHAM BT Ud didd (3S) BT I v B A1 Tl dTel m SHE $ 21 faRmHrasen § Rerd, e oy
dfcT | GH@ TFRR Bl © | Afa, UAga (RRSSYIH) Yo e 8 Al TIhR & Ul Ugel a1 g

dfct & 9911 # argurd BT |

@ =2 0) 2 R @52

(@)

V,=V, +V, =  2V,=(1+e)V,

eV, =V,-V, 2V, =(1-e)V,
Vv, _1-e

SO v, 1+e

A box of mass 1 kg is pulled throught 1 m along a level floor by a horizontal force of 8 N. The box
is then raised vertically on to a bench 2m high. If g = 10 ms—, the total work done on the box is
1kg S & UH dfed 1 1 m db Wi Srar © | R 39 df &l Sealer 2m $a1s db Udb 9
e 3ol forgr &ren 21 e g = 10 ms2 & I, dfe R fBa1 a1 el SR B

(a) 18 J (b) 28 J () 8J (d) J82 1202 J

(@)
work=8x1+1x10%x2=28J
(= Fx+ mgh)

/N
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29.

Ans.
Sol.

30.

A wheel and an axle is made to rotate about a horizontal axis with the help of a body of mass 5 kg
attached to a string wound around the axle. The radius of the axle is 10 cm. The body falls
vertically throught 5 mis 10 s starting from rest. The moment of inertial of the wheel and axle is

T &9 dAT Ut (Ufear 9 g1 R U IR U] & 3R TRl & o R WR 5 kg S| &1 Uh
fie qa1 2| R 59 S den vfdae & gamm o <@ 2| gfedd (g9) @ e 10 em 2
faRTATARRT ¥ TR Blax I8 fi€ 10 s H 5 m iR faen # frar & @1, @Ia a2 i &1 Sisd

el Brm
(a) 3.85 kg m? (b) 4.85 kg m? (c) 5.85kgm? (d) 2.85 kg m?
[Bonus/b]
50-T = 5a (1)
TR =l =la/R @)
la=TR?
1 1
Now. 5= —ax10x10 soa= -— =0.1 m/sec?
At 2 10
$0.50-T=0.5
5k
5k s0T=50-05=495
V
_ 495
solx0.1= 10<10
so | =4.95 kg m? None of the answer given.

Three particcles of masses 1 kg, 2 kg and 3 kg are placed at the corners of an equilateral trangle
of side 1.0 m as shown in the fig. The coordinates of the centre of masses of the system are

A9 BU BT A B 1 kg, 2 kg T2 3kg 8 | $TH1 1.0 m YT & U THa1g st & <A $I1
W, IRT H ST T AR G ST & | I, 39 FHH & g0 ds @ Fceied sl

Yl\

/N
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31. If r’is the radius vector and ‘P’ momentum, the angular momentum L is given by L= Pr. Which of
the graphs shows correctly the variation of (log L) with (log P) ?
afe ¢ frour afewr & 3R ‘P IRge |1 &1 1, Sofig |99 L= Pr 841 8 | Si99r I1% (log L) &1
(log P) & w11 faervr (qRad=) &1 el (S1d) uridar & ?

I I

LogL LogL
(a) (b)
0] 0]
LogP ——> LogP —>
LogL LogL
(€) (d)
O 0]
LogP —> LogP ——>
Ans. (b)
Sol. L=Pr solog=logP+logr
y =X+ logr
so (b) ans.

32. Figure shows the pressure - temperature phase diagram for water, the curves corresponding to
sublimation, fusion and vaporisation respectively are

TRl el (UT) BT 19 — A9 TIOR3 TLMAT 141 2 | 39 IRW H Hedura+, Aierd qo
IO & GId db HAS: B

{atm)

Liquid

|
|
|
|

e o e Vapour:
|
|
T(°C) —>

(@A0,0BandOC (b)BO,0CandAO (c)OC,BOandAO (d)AO,OC andBO

(@AO,0BTdamOC  (b) BO,OCadamAO (c) OC, BOTamAO  (d)AO, OC Tm BO
Ans. (a)
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Sol.

33.

Ans.
Sol.

34.

Ans.
Sol.

Sublimation = solid to gas soAO
fusion = solid to liquid so OB
vaparisation = liquid to vapor so OC

Atransformeris used for a 100 watt, 20 volt electric bulb at a place where the A.C. mains poten-
tial is 200 volt and the current drawn is 0.6 A. The efficiency of the transformer is nearly
(a)48% (b) 68% (c) 30 % (d) 83%

T I WR T (A.C.) 44 &1 fa9a &1 719 200 V 8 9 9 W 100 dre, 20 diee fagd acd
% ford U TRABIHR BT SYAFT fdbar Siar 8 1 a1 599 9 <l 8 ORT & 79 0.6 A8 | S9
STRIBTHR BT T&TdT o9 8

(a)48% (b) 68% () 30 % (d) 83%

(d)

P, = 100 watt

p,, =200 x 0.6 watt.

=120 watt
son= %MOO% = g><100% = 520% = 83.33%

The figure shows a plot of binding energy per nucleon (B.E/A) vs mass number (A) for nuclei. Four
nuclei, P, Q, R and S are indicated on the curve. The process that would release energy is

TRl AW & ford ufa <fdesi du9 Soil' (B.E/A) T 'S §&T (A) & d19 A% =11 11
g, 39 W IR A1W® P, Q, R 3R S &1 sifdd fean a1 2| Fe=ifea # 4 fvw gaq 4 ool
g

8.5 p-=====p3 R
Q

o R o \
S Y I R I p
%0/ 7.5 NG
<
b
° 5 / s

30 60 90 120
-3 A

(@R —>2S b)P>Q+S (c)P —>2R dQ—>R+S
(c)
Process in which resultant nuclei with greater BEPN will release energy. so.
R—>2s will consume energy
P>Q+S will consume energy
P—2R will release energy

Q—>R+S  willconsume energy

/N
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35.

Ans.
Sol.

36.

Ans.

Sol.

For the following combination of gates, select the correct statement

el & I8 T T JIIoH & ford f=ifad 5 O o9 91 o9 98 & ?

}_
)
: -

INPUT 2

INPUT 1

OuTPUT

(a) The outputis 1 when both the inputs are 1
(b) The output is 0 when both the inputs are O
(c) The outputis 0 when the two inputs differe
(d*) The outputis 1 when the two inputs differ
(a) SFT Fae & 1 3 89 W) a3 B
(b) &1 9=l & 3 B wR Rl g 8

(c) & frawi & ovR B W frfa = 8

(d) 1 e # ok B9 R i 1@

(b, d)

Truth table for given gates

Input 1 Input 2 Input 3
0 0 0
0 1 1
1 0 1
1 1 0

Energy required to transfer a 400 kg satellite in a circular orbit of radius 2 R to a circular orbit of
radius 4 R, where R is the radius of the earth. [Giveng=9.8 ms?, R=6.4 x 10°m]
(a) 1.65 x 10°J (b) 3.13 x 10°J
(c)6.26 x 10°H (d)y4.80x10°J
IS godl 31 3581, R=6.4 x 106 m d2I1 g = 9.8 ms2, 400 kg =A™ & Udh SUUE I, 2 R 3o
@ g Hel W 4 R o &1 gy der 4 WIA=IRG R4 & o, A ol &I |49 8I
(a) 1.65 x 10°J (b) 3.13 x 10°J
(c)6.26 x 10°H (d)4.80 x 10°J
(b)
GNm GNm GNm
Energy requred = 2(2R) 2(4R): R

_ GM MR _98x400
T R2° 8 8
=98 x 802154 10°J
=784 x 4 x 108

=3136 x 10°J = 3.136 x 10%J

x 6.4 x 108)

/N

Corporate Office (New Campus):CG Tower, A46 &52, IPIA,Near City Mall, Jhalawar Road, Kota (Raj.)-324005

Resonance Website : www.resonance.ac.in | E-mail : contact@resonance.acin

Educating for better tomorrow [To|l Free : 1800 200 2244 [1800 258 5555 | ¢IN: Us302R J2007PTC 0124029 RPMT 27-07-14 -S - 16




37.

Ans.

Sol.

38.

Ans.

Sol.

39.

Ans.

Suppose the gravitational force varies inversely as the 4™ power of the distance. If a satel lite
describes a circular orbit of radius R under the influence of this force, then the time period T of the
orbit is proportional to

BT DI [ THed 7, g & A 91 BT YShAGUR & | M, 39 91 B A T SUUB
R F2roa1 ®1 g<iig sl § URHHAY B 81 8 I, &N Pl fdcicblel T BT

(a) R3/2 (b) R5/2 (C) R2 (d) R7/2
(b)
GNm _mv? _\2.GM
r4 r r
= 2nr _ 2mr (312
v JGM
2

so. T2 = A 22 SOT o 192

4M

A string of length 'I' and radius 'a’' is stretched between two fixed points A and B without tension.
The middle point of the string is pulled to a small distance 'd' in a direction, perpendicular to he
original length of he string. If the Young's modulus of the string. If the Young's modulus of the
material of the string is Y, the energy stored in the string is

(a) ma? Yd?/ | (b) ma® Yd (c) 2rnYa?d¥/ PP (d)Ya?l?/d

' TS qAT A’ ST B U SR (AT Oa RMEd e H &l f9gail Ada B 419 O 2 | 39
e fag @I, SO URMISG =TS & o=ad 'd' g9 9@ @iel ol & | 3fe, 39 el & ford Iw
qolis BT A 8 a1 IR H GfHd Sl sl |

(a) na2 Yd¥ | (b) na? Yd (c) 2nYard¥/ I° (d) Ya2?/ d
(c)

4 [d ———0

4 (/2 r2 N

AT - oy

Energy smred = %(srewstrain)x volume

2
1 (AL 4d? 2v.d*a?n
= _ y|=| volume = _ 2% a2 =
2 Y( ! j 217/ Al

—_

Water is poured in a vessel at a constant rate fm?/s. There is a small hole of area o at the bottom
of the vessel. The maximum level of water in the vessel is proportional to

@pB/a (b) B/ (c) p?/o? (d) o?/ p?

& U (F31) | BmY/s B ReR &R F Tl WRT ST W81 8 | UTH &1 dell H o 8F%d &1 9% 8| a1 39
UE H O b WR B AABdH HAg FEIfbd § W (e qErguTn sei?

(@pB/a (b) B?/ (c) p?/ o2 (d) o?/p?

(c)

/N
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Sol.

40.

Ans.
Sol.

41.

Ans.
Sol.

42.

Ans.

Sol.

T

h
_ 1B
B =ax.2gh SOh—zg-az
IV=\/29h

A hot wire of copper is stretched at a temperature of 150°C between two fixed walls. At what
temperature will the wire break when it is cooled ? The breaking stress of copperis 2.45 x 108 N/
m? Young's modulus of copper = 11.8 x 100 N/m?, coefficient of linear expansion of copper= 1.6 x
10-5/°C.

(a)20.2°C (b) 43.2°C (c)64.9°C (d)70.2°C

150°C @19 &1 & 1 DR BT dR 1 Rer ARl & 919 T41 2 | IR & S - W) I fHd amu
UR T RN ? HIWR I, {916 ufddadt = 2.45 x 108 N/m?2 I3 vl = 11.8 x 100 N/m2dei Y&
UER UNd = 1.6 x 105°C 2 |

(a)20.2°C (b) 43.2°C (c)64.9°C (d) 70.2°C

(a)

245x 108 =Y a AT=11.8x 10" x 1.6 x 107° x AT

_ 24x10° 2450
~ 11.8x1.6x10° 11.8x1.6

so. T = 20.23°C

* " Lower

AT =129.77°C

In the n" normal mode of vibration of a string there are

(a) nnodes; n natinodes (b) (n + 1) nodes ; (n + 1) antinodes

(c)nnodes; (n+ 1) antinodes (d) (n + 1) nodes ; n antinodes

ffl S M & nd (n) IHTY S ATS H

(a) n g e n TE B | (b) (n + 1) =g T2 (n + 1) 7T B 8 |
(c) n =T @I (n + 1) T B & (d) (n + 1) T T n g B #

(d)
n* mode of vibration=n
.. antinodes (n + 1) nodes

As the train crosses a stationary observer, the apparent change in frequency of sound is in the
ratio 5 : 3. If velocity of sound in airis 332 m/s, the velocity of train is
(@) 81m/s (b) 83 m/s (c) 90 m/s (d) 87 m/s

S U ¢ (Yol TSN fHe R (wd BY) Al @ U 9§ et & A1 @y B argfa sl
uRads 5:3 @ 3rgurd # Bl ¢ | IfX &y &1 arg § 991 332 m/s © I, ¢ BT 99 B

(a)81m/s (b) 83 m/s (c) 90 m/s (d) 87 m/s
(b)
v 5 V4V
fapp'—V—Vt' = 37 Vv, = S5V -5V, =3V +3V,
- f -
ree V-|-V1 2V_8Vt
V 332
V.= -1 ° 83 m/sec.

/N
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43. Four plates are located at a distance 'd' apart from one another. The extreme plates are
interconnected. A potential difference of v is applied to the inner plates. The electric field E between
'"1'and'2' plates is
IR ®iel Bl ARG H Y T AR §9 YHR W 1 & &, U ©ic I 3Fell wie, 'd' g R 2 |
g d 3ifo (Agel) wiel 3 3 U R gR1 1 8 | Wikl &1 wiel & dr9 v f[avar<R 8 | I, wie
"' qenn '2' & I faga &3 E &1 A B |

277N
3¢d
e
4
v v v 2v
@) 29 () 24 © 4 @)
Ans. (b)
1
\"
Sol. i—./‘__r Y SOE, = o5
L V/?'VJ,Z \
| ! '

\Y

44. The variation of potential with distance r from a fixed point is shown in figure. The electric field at
r=3cmis:

s ¥ el Rerfd fag 9 r g0 R fava o1 uRads &1 =ifar am €1 r= 3 cm W faggd an grm:

[#]

Vin (volt) —>

[ed

N

N S
I mmmmmmm

rin {cm) =

(a) zero () (b)-2.5 Y, (©)+2.5 Vo, (d)+5 Y/,
Ans. (a)

d
Sol. =—d—\r,:0 atr=3cm
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45.

Ans.
Sol.

46.

Ans.

Sol.

47.

Ans.

Sol.

Two identical conducting spheres R and S have negative charges Q, and Q, respectively, but Q,
# Q, . The spheres are brought to touch each other and then kept in their original positions, now
the force between them is

(a) greater than that before the spheres touched.

(b) less than that before the spheres touched

(c) same as that before the spheres

(d) zero

&1 FdEH el R 91 S IR % Q, a1 Q, %04 8 | fbg Q, = Q,, ST! 309 § WIS H oAl
(frema=), ool gd Reafa # @ faon orar 81 @), 39 399 9 & 9o

(@) WUP H &M A Q4 S 41 & g A AP BT

(b) TUH H &M H UG 91 F HF BT

(C)IYD # &M A Yd 9o & IRIER BT

(d) =z
(@)

Charge will get equally distributed & now the force of repulsion will be maximum for given sum of
charge.

P3
Ther is a physical quantity A = @ If there occurs an error 'x' in P and an error'y' in Q then the

maximum possible error in finding A would be

3
Wﬁﬁﬁﬁ?ﬁfﬁ,A=%@IWWWT%IUﬁ{PiﬁWﬁ'X'ﬁ%Sﬂ? Q¥'y Ffe & I,

A ¥ wgcH w9d Ffe Bl

(a) 2x—3y (b) 3x -2y (c) 3x + 2y (d) 2x + 3y
(Bonus)

3
A=P % 3AP AQ

el = = ?+3? = 3x + 3y (none of the answer gives)

The unit vector perpendicular to each of the vectors 3j+j+2k and 2i-2j+k is given by
QI afewt, 34+ j+ 2k T 21— 2j+k B oA Ubid @R NN

A A

(a)%(?—]—fo ORI R SRR (d)%@-im
(Bonus)

- AxB . .
By finding 1AIB] will give the ans.

AxB = (31+]+2K) (21 - 25 +K)

/N
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48.

Ans.
Sol.

49.

Ans.
Sol.

=—6k-3j+2k+i+4]j+4i
= 5i+j-4k None of the answer given.

The distance (x) travelled by a particle in time, t, is given by t = 2x>+ 3x. If 'V' is the velocity. Then

acceleration will be
't {Y W (AT B ERT O BT T g3 X B, t= 2x2 + 3x gRT YSRIA &A1 Sar 7 | afd 9v v E

al TR BI HIF B |
(a) —4v? (b) —3v* (C) 4v2 (d) =3v?
(a)

t=2x2+ 3x

ﬂ:1:4x+3 dx
dr dt

SO. l:4x +3
v

1 _ . dv 4
(4x+3) S08=Vix T (@x+3)p

V=

dv 1

v___ T 4 __
dx  (4x+3Y =—4Vv?

Two mass A and B of 10kg and 5kg respectively are connected with a string passing over a
frictionless pulley fixed at the corner of a table as shown in the figure. the coefficient of friction
between A and the table is 0.2. The minimum mass of C that may be placed on A to prevent it from
moving is

B 10kg T 5kg A & <l fis Aden B, U YRl & 2 RRT 9 99 € | I8 /0 Uh 09 &
PR R Rerd RN & JUR ¥, 3RE H TR T AR, YoiRdl & | ATAT 49 & 419 9y Yo

028 AR & U CRET H AP A T Il & | A1, fUs C &1 YAdH Sq B

(@) Okg (b) 15 kg (c) Skg (d) 10 kg
(b)

50=0.2(10+m_) x 10

s05=2+0.02m,

somg% =15kg

/N
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50.

Ans.

Sol.

51.

Ans.
52.

Ans.
53.

Ans.
54.

Ans.

A rocket having initial mass of 1000 kg burns fuel at the rate of 4kg/s. If the speed of exhaust
gases relative to the rocket is 3000 m/s. the initial thrust on the rocket is

U e & RS gH 1000 kg 8 | 390 3899 4kg/s @) &3 A Sordl 8 | IfS dbe & AieT d1ex
et /T BT =l 3000 m/s 81 4, he R IR IRRAS gone 8

@1.2N (b) 3x103N (c) 4x10°N (d) 1.2x104 N
(d)

F=v, CL—T =4 x 3000=12000N=1.2x 10*N
CHEMISTRY
The basic character of the oxides MgO, SrO,K,0, Cs,0 increases in the order
dfearssl & &R MgO, SrO,K,0, Cs,O eror g 8¢ %49 H &
(@) MgO >SrO>K,0>Cs,0 (b) Cs,0<K,0<MgO<SrO
(c) MgO<SrO<K,0<Cs,0 (d) K,0<Mgl<SrO<Cs,O
(c)
Identify the molecule which has a permanent dipole-moment
) fgga—argel arel 39 &l ysEni
(@ H,S (b) CO, (C)CCl, (d) ClL,
(a)
Anincorrect statementin the following is
(a) Liforms Li; N with N,
(b) LiCl can be used to control humidity
(c) Electrolysis of fused LiCl is used to prepare Li metal
(d) lonic mobility of Li* is greater than that of Na* in aqueous solution

T & 9 BITET $UT T © ?

(@) Li, N,& 121 LiN a7 2 |

(b) LiCl & rrdar Fa=Ivl &1 § IuAT foran S 9l 2 |

(c) |urfera LiCl & fagqd sraered | Li q917d1 SITan 2 |

(d) STeia faera= o Lit & emafie ifaeiadr Nat 9 surer gl 8

(d)

Maximum covalent character will be shown by which of the following compounds ?
= o @ el deddeie U 9eH R arar Afle 2 |

(@) SnCl, (b) MgCl, (c) NaCl (d) AICI,

(d)

/N
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55.

Ans.

56.

Ans.
57.

Ans.
58.

Ans.

Which one of the following is an electron -Precise compound ?

(a) Methane (b) NH, (c) Diborane (d)H,O
TP 9 & 2 A1c1, 44.8 e U9 H 546 K WX 2 | S S1d BT

(a) o= (b) arfan (c) STSaRA (d)H,0
(c)

In this reaction s 21fafshar

CH,

NH, Nano, cuen

- LAH
HCl *B KCN »C » D

D would be (@ D gr)

CH, CH, CH, CH,
CH, NH, C=H COOH NHCH,
(a) (b) (©) (d)
(a)
Which one of the following reactions is called Gatterman reaction ?

= 9 ¥ o= A sfafpar mexmE sifafhar deard 8 ?

(@) ArNGX™ C@;]-CQC' ArCI+N,

(b) ArNsx~ —LulCone. HEL, ArCI+N,, +CuX

(€) AN3X~ — g Ar N = N ~CgH ~OH+NaX + H,0
(d) ANX~ P2 ArF + BF g+ N,
(b)

An important vitamin soluble in oils and fats but insoluble in water, is responsible for 'Rickets' in
children and 'Osteomalacia’ in adults. The vitamin is

(a) Vitamin B, (b) Vitamin C (c) Vitamin D (d) Vitamin E

U HE@yUl [9e1i¥id 1 {6 dd U9 991 fdory & do1 od H 3ffdeld | I8 9% Récd ya qaawhl 4
HIRECIFARRT & I<RERN 2 | I8 fdeid

(a) faerf= B, , (b) faerf@= C (c) faerf¥ = D (d) faer®= E

(c)

/N
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59.

Ans.
60.

Ans.

61.

Ans.
62.

Ans.

Sucrose is composed of two monosaccharides

(a) a-D-glucose and a-D-fructose

(c) B-D-glucose and a-D-fructose

ghg &1 A DRSS I I B
(a) o-D-@TE Ud o-D-Hac|
(c) B-D-[@14 U a-D-paed

(d)

Amylopectin is a polymer of

(@) p— D —Glucose

(c) B — D - Fructose

vfefaed e 9gad @
(@) B— D — @I
(c)Bp—D-mac™

(b)

In Hell-Volhard-Zelinsky reaction 2-Methylpropanoic acid gives a compound (A). The compound

(A) is.

sA—dlage—uifoid! § 2-Afamusig® v th e (A)Tar = | I8 Iiffs (A) B |

" ¢
I
(@) CH,-CH-C-ClI

T
@)CHf—?H—COOH
CH,

(b)

(b) B-D-glucose and B-D-fructose

(d) a-D-glucose and B-D-fructose

(b) B-D-*e®1E U4 B-D-TpacTd
(d) o-D-T@T Ud B-D-tpaeid

(b) o — D = Glucose

(d) o — D — Fructose

(b) o — D — 7T
(d) o — D — paeId

T
(b) CH, - cI: ~ COOH
Cl

(d) CH, - (le — CH,0OH
CH,

Which of the following orders of acidic strength is correct ?

1 o O arvel —qHd BT GE B 2 |
(a) RCOOH > CH=CH > HOH > ROH
(¢) RCOOH > HOH > ROH > CH = CH

(c)

(b) RCOOH > ROH > HOH > CH = CH
(d) RCOOH > HOH > CH = CH > ROH

/N
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63. A product C was obtained from m-nitro-benzaldehyde in the following reaction.

=1 arfifhar A Sare m-ATsgiaifeserss o 991 2

NO,
CHO
The product C would be
al Sa@e C 8em
CHOH ~COOH CH.COOH
@ (b)
NO, %o,

NO; NO,

(©) (d)
CH,OH CHNH,

Ans. (a)

64. A mixture of benzaldehyde and formaldehyde is reacted with hot conc. NaOH solution. Product/s

is /are

Jifesess Ud Bidfesegs © Asior o fAfhar 1 I NaOH ¥ ®&xa™ WX IS a7 2 |

(@) CgHsCOONa + CH;0OH (b) CgH5;CH,OH+ HCOONa
(c) CzHsCOONa + C4H;CH,OH (d) CGHS(’T‘H - CHO
OH
Ans. (b)

65. IUPAC name of OHC —CH, —(|3H —CH, -CHO js

CHO

(a) Propane-1,2,3-tricarbaldehyde (b) 3-formayl-1,5-pentane dial
(c) 3-Propane-1,2,3-Trial (d) 4-3-Aldo-1,5-pentane dial
OHC —CH, —(I:H —~CH, —-CHO

CHO
&1 IUPAC M ©
(@) MU 1,2,3-CEBfosessS (b) 3-wiffd-1,5-U<T—SEare
(c) 3-UTU+-1,2,3-2T83re (d) 4-3-Vcel-1,5-U<H S8

Ans. (a)
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66. An aqueous solution of K,Cr,O,, reacts with H,S gas ub acidic conditions to give a green product

(A). (A)is
K,Cry0, &1 5ol faeed H,S & w1t sty aRReIf # fiban ava &1 Sure (A) a1 21 (A) B
(@) Cr, (SO,4)5 (b) CrSO, (c) K,.CrO, (d) CrO4

Ans. (a)

67. Which one of the following has tetrahedral shape ?

IGEHADHIT AHR =1 H 4 g g ?

(@) [Ni(NHg)gJ2* (b) Ni(CO), (©) INI(CN),J* (d) [Pt(CN),J*-
Ans. (b)

68. Covalent character decreases in the order

HEHISN <feTvl dI Hedl §3f HH 8

(@A>P>Sb>Bi (b)Bi>As>P>Sb
(c)P>As>Sb>Bi (dySb>Bi>P>As
Ans. (c)

69. Which one of the following ions has an optical isomer ? (en = ethylenediamine)

g & 9 W A H URIRie HEagar @ 7 (en =gReiMsEwe)

(@) [Zn (en),]** (b) [Zn (en) (Mty),]**
(©) [CO (H0)4(en)IP* (d) [CO (en),]**
Ans. (d)

70. Which among the following is NOT a coloured compound ?

1 & @ Pr=ar Aifire e T8 8 ?

(@) TiCl, (b) TiCl, (c) K,Cr,0, (d) KMnO,
Ans. (b)
71. Which one of the following is a copolymer
(a) Polyacrylonitrile (b) Nylon-6,6
(c) Butadiene-styrene (d) Nylon-6
=1 § 9 P Hgdgdd B 7
ERIGNEEIRIEAES (b) ATSI4-6,6
(c) HCTSET—¥eIgA (d) Tgeif=-6
Ans. (c)
72 Which one of the following does not cause pollution ?
(a) Nuclear power plant (b) Thermal power plant
(c) Hydroelectric plant (d) Petroleum refining plant
Freaforad # 9 {9 @ HIRY Yyl 8] 8idl & 7
(a) e faga GI= (b) 19 fagd @I
(c) STa—faega waH (d) verferam aRehor 3=
Ans. (c)

Corporate Office (New Campus):CG Tower, A46 &52, IPIA,Near City Mall, Jhalawar Road, Kota (Raj.)-324005

/\ Resonance Website : www.resonance.ac.in | E-mail : contact@resonance.acin

Educating for better tomorroW [ToIl Free : 1800 200 2244 [1800 258 5555 | CIN: Us0302R J2007PTC 024029

RPMT 27-07-14-S - 26




73.

Ans.
74.

Ans.
75.

Ans.

O-Toluidine yielded a product D
O-CgSH ¥ U% SE D 99T B |

NH,
CH; aco Br. .
_ Y 2 OH

pyrdine > B ch.coon * C »D

The major product D obtained would be

I8 & 341G D B

NH,
CH, NHCOCH, NH, NH,
CH,Br CH, CH,
(a) (b) (c) (d)
Br Br Br Br

(a)
In the addition of HBr to propene in the absence of Peroxides, the first step involves the addition

of

WRiRAgs @1 R # Yidi| W HBr WaIeH 4 YoM U ¥ e BIdl © |
(a) H* (b) Br- ©) H° (d) Br*
(a)

When chlorobenzene is heated with chloral in the presence of concentrated H,SO,, , the product

obtained is
STd ARG BT Gig & IURYT FllRel 1 T4 fhar rar & a1 Idre a9d71

o Aa Cl

| | cl
(a) Cl—(f—C—@Cl (b) CI—Cli—CH/@

L\ L e

/N
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76.

Ans.
77.

Ans.
78.

Ans.
79.

Ans.
80.

Ans.

A 5 % solution of glucose (molecular weight 180) is isotonic with a 10% solution of an unknown

substance at the same temperature. The molecular weight of the unknown substance is

FHM AT TR 5 % T (7] 4R 180) 1 fdera va 10% 31ia uared &1 fderas GHuRMER 8
al 37eTd e ®I AR T |

(@) 90 (b) 180 (c) 360 (d) 45

(c)

A buffer solution has to be prepared from propanoic acid (Ka = 3.0 x 10~°) and its salt. The ratio of

[Salt] : [Acid] required to prepare buffer solution of pH = 5.0 would be

TUAEH 3 (Ka = 3.0 x 107°) U9 $HH &q9 | g% fderad 91 8 pH =5.0 & B faderas a9
@ oy [eravr] : [8TF] @) SMagadhdl BIN

@@ 1:3 b)1:1.5 (©)5:3 d)3:1

(d)

Which mode of expressing concentration is independent to temperature ?

(a) Molarity (b) Normality (c) Formality (d) Molality

DI Al AWA(dd BT AEgH Y 9 WA & °

(a) AR (b) ATt () BiHerdr (d) HreTeran

(d)
At 298 K. molar conductivity of 0.1 M NH,(OH) (aq) solutions is 9.54 Q=" cm?mol~! and at infinite
dilution, molar conductivity is 238Q~" cm? mol~!. What is the dissociation constant of NH,OH ?

0.1 M NH,(OH) (aq) @I 298 K &R #HIeR =eiddl 9.54 Q' cm? mol™! derm 3d agdl W HIeR

=Terebell 238Q7" cm? mol~! & NH,OH @1 fagiss Reris @1 8 7

(@) 1.6x 104 (b) 1.6 x 1075 () 1.6 x 107° (d)1.6x 108

(a)

Two aqueous solutions one containing AGQNO, and the other X2* jons, are electrolyzed with the
same amount of current for equal times 5.00 g of Ag and 3.17 g of X are deposited. What is the
molar mass of X ? (Ag = 108)

&l STeld g fSrad b g AGNO; gER # X2 3 8 | 57l o1 Hiek  fdgfd U wH |9

% faga —emafed AT 21 5.00 g of Ag 3R 3.17 g X afid 8 | X &1 #ieR g0 &1 ® ? (Ag
= 108)

(a) 34.3 g mol™! (b) 68.4 g mol™* (c) 1.37 g mol™" (d) 170 g mol™*

(c)

/N
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81.

Ans.
82.

Ans.
83.

Ans.
84.

Ans.

Given
. 1
i) Hag +502 > H:0();

AH =-242 k J mol™"

ii) The enthalpy of dissociation of Hz(g) and Oz(g) are + 436 kJ mol~! and + 500 kJ mol~! respectively.
the bond enthalpy of O —H bond in water is

(@) + 121 kJ mol" (b) + 222 kJ mol~ (c) + 444 kJ mol~! (d) + 464 kJ mol"

fed
. 1
i) Hag +502 > H:0();

AH =242 k J mol™

i) Hpg)3iI Oy @ FRISHT 5577 + 436 kJ mol~" 2T + 500 kJ mol~! &1 1<t # O —H s
Il g |

@+ 121kJmol™!  (b) +222kJmol~!  (c) + 444 kJmol~!  (d) + 464 kJ mol-"

(d)

Which of the following complex is not expected to absorb visible light ?

fefoled § @ 19— dHa g9 USHTY raenyy & ford gyl g g ?

(@) [Cr (NHg)g]?* (b)[Fe (N,O)g]** (©)INi (CN),J* (A)[Ni (H,0)g]**
(c)

Which of the following is an impossible set of quantum number ?

fr=forRaa #§ 9 @I FaieH Hwamsll b1 JE9fdd T o |

(2)4,0,0, % (0)4,1,0 15 (©)4,0,1, % (d)4,2,1, %
(c)

Complete hydrolysis of DNA yields a pentose sugar, deoxyribose. Deoxyribose differs from reibose

is not having an — OH group on

DNA &1 YUl STel Jqee Ui IR (SATRIRTSE I a1 & | Jgarq 9 SaifriRiay 39 dig A=
g f sud fd &= — OH gu &1 2rar 8 7

(@C-1 (b)yC-2 (c)C-3 dyC-4

(b)

/N
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85.

Ans.

86.

Ans.

87.

Ans.

Some reactions of ethers are given. Which one is not ture ?

SR & ol B Iffhay 1 8 8 @19 91 981 981 8 ?

OH
(8) CgHsCH, — O — CgHg + HI - CHsCH, 1 +©

(b) CH, —O—CH,CH 3 +HI —> CH, T+ C,H;OH

(C)CH,CH, — (l)H — O —CH,CH, + HI -
CH,

CH,— CH, - cle — OH + CH.CH, I

CH,
ICH3 (|3H3
(d) CH= €~ 0~ CH, + HI > CHl + CH,— ¢ - OH
CH, CH,
(d)
The reaction (3rf¥fshar)

1 -
229 + A9Cle) == Hag) + Cliag) +AQs)

occurs in the galvanic cell which is represented as
eaf e ¥ 9 8l B | 39! |al v 8
(s)/KCI

(a) Ag/AgClI
(b) Pt, H
(c)Pt, H
(d)Pt, H
(c)

The heat of reaction SO, +%02 = S0427°C is =100 kJ at 27° C. The value of AH for the

(aq)/AgNoa(aq)/Ag
(aq)/AgNoa(aq)/Ag
/AgCI .\/Ag
/AgCI .\/Ag

(s)
(s)

(aq)

(aq)

reaction will be
(R=8.314jk™

802+202:80327°Cq?ﬁfﬁmaﬁm—moui‘ | 1 STf¥fshar & T AH &1 A9 81 |

(R=8.314jk™"
(a) =100 kJ (b) +100 kJ (c)-98.75 kJ (d)=101.25 kJ
(@)

/N
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88.

Ans.
89.

Ans.
90.

Ans.
91.

Ans.

What is the wavelength (in nm) of X-ray radiation with a frequency of 6.39 x 1017 s~1?
(c=3.00 x 108 ms™)

X-x fafa=or foraa amgfa 6.39 x 1017 571 8 9@ axvraed (nmd) 2 |

(c=3.00 x 108 ms™)

(a) 0.469 nm (b) 2.13 nm (c) 46.9nm (d) 192.0 nm

(a)

The rate law of the reaction

2A + B — Product (P) is give by

d
d—f = k[A][B] Under the conditions when [B]>>[A], the order of reaction will be

2A + B - Jare (P) sififpan wify e faan ‘:j—'f = K[A][B] 5@ [B]>>[A], a1 uRReify 3 i &

Pife 8t
(@) 0 () 1 () 2 (d)1.5
(b)

The dissociation constant for certain weak monoprotic acid is 9.0 x 10~° | What is the [H*] of a
0.10 M solution of this weak acid that is 0.010 M in the sodium salt of the acid ?

T gacl AgIfe® el el faare Rerd 9.0 x 10758 | 39 gddl 3% & 0.10 M fderg 9 [H*]
g1 8 ol f 0.010 M 3/l & wifegs wfee # & |

(@) 9.0 x 106 (b) 9.0 x 10~ (c) 3.0 x 10-3 (d) 3.0 x 102

(b)

Among the following the false statement is

(a) SiO, is not the basic structural unit in silicates
(b) SiCI2~ is unknown

(c) Berylis a cyclic silicate

(d) Silicones contain R,SiO repeating units

1 o W eIy ®YUA R

(a) faferael d SiO, Jo1 A=A T8 ¢ |

(b) SiCiZ~ a1=Td 2 |

O8N N

(c) IR & T Riferde 2|
(d) faferIl § R,SIO YRIaci® il ¢ |
(a)

/N

Corporate Office (New Campus):CG Tower, A46 &52, IPIA,Near City Mall, Jhalawar Road, Kota (Raj.)-324005

Resonance Website : www.resonance.ac.in | E-mail : contact@resonance.acin

Educating for better tomorroW [ToIl Free : 1800 200 2244 [1800 258 5555 | CIN: Us0302R J2007PTC 024029

RPMT 27-07-14-S - 31




92,

Ans.
93.

Ans.
94.

Ans.
95.

Ans.

Which one of the following is an example of disproporationation reaction ?

1 & & B SR AfWfhar &1 SaTERvr ® 2
(a) 2 Se,Cl, —— SeCl, + Se

(b) 2Pb30) ——> BPbO+0,y,

(€) 280,(g) + Opg) —> 2804,

(d) CaCOa(S) + H2803(aq)—> CaSOa(S) +H,0 + CO,

(a)

Out of the following statement identify the incorrect one

(a) During benefaction of an ore by hydraulic washing, lighter gangue particles are washed away
leaving ore particles.

(b) Pure Al,O,4 cannot be obtained by the process of leaching bauxite ore with conc. solution of
sodium hydroxide

(c) During froth floatation process, ore particles are removed as froth leaving behind gangue.

(d) Sulphide ores can be successfully separated using froth floatation process by varying ail-to-

water ratio.
1 ol H ¥ Tdd BT BT YA
(@) 3B & FoolldHRU H 1T 41a9 H Bed 1 & BV ol & A1 d8dh: 918X Fdhal offd 8 el

AR 3R Y I8 O ¢ |
(b) Y€ AlL,O; B dieITSe h ®I Hie WIfSYH Blggldgs & Hef fFele ¥ g &1 fbar off

&l B |

(c) B ia I & SR SRRD & B DT BT & WU H 37T ) forar Sirar & iR 11 9y e & B
(d) HehTSS WP DI BA—d a4l § qd T Sl BT IUI URdlId B AHAdl YOI AT
g S aadr g |

(c)

Ozone in stratosphere is depleted by which of the following ?

1 A O P9 KRR | NSF &1 dery 8idr g ?

(a) CF,Cl, (b) C/Hqq (c) CgHgClg (d) C4Fg

(a)

Which one of the following does not exhibit paramagnetic character ?

(At. No. Ti=22;Fe=26;Cr=24;Cu=29)

1§ 9 P JgRe e $1 UeRia T8 Rl 57
(U.9.Ti=22;Fe=26;Cr=24;Cu=29)

(@) [Ti(H0)el** (b) [Fe(CN)g]* () [Cr(NHZ)g** (d) [CO(NH,)gI*
(d)

/N
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96.

Ans.
97.

Ans.
98.

Ans.
99.

Ans.

In which of the following compounds there is no H-bonding ?

/=1 o 9 5 9If® 3§ gRgoE ey T8 2 |

(@ CuSO,.5H,0 (b)NH,OH (c) HF (d) CgHs5NO,

(b)

A ball of mass 0.2 kg is moving with a velocity of 10 ms™" . Its wavelength will be (Planck constant
=6.626 x10734 Js, J = Kgm3s—2)

U% 0.2 kg TFE &I i 10 ms™! & 997 I 8 | $9®T dQed 8T

(Wi ReRT® = 6.626 x10734 Js, J = Kgm?Zs—2)

(@221x103m  (0)3.313x1024m  (c)3.312x103'm  (d)2.21 x 103 m
(b)

When an electron of mass m and charge e is accelerated by potential V, the wavelength (1) of the

wave associated with electron will be

(a) Proportional to V (b) Proportional to %

1
(c) Proportional to /\/ (d) Proportional to W

STd m SIAM U9 e A9 BT Soide = ®f V favg o @Rd fear Sar1 8 a1 39 soidgia 3 9ag axl

B I (M) BT

(@) V& STIshHrurdl (b) %a‘) SBELIGCIR|
1
(©) v & SR (d) @ STIHIIH

(d)

Ca crystallises in a face-centred cubic unit cell. The packing fraction for the Ca unit cell will be
given by

Ca Bad—diad °-1g Uhd dIftsdl H fhwefad glar 8| Ca ®l Udbd Hiftcdl & R Adge A

ELAll

(a) n/6 (b) n/3 ©) (d) =2

6

o J2x
3

(d)

/N
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100. Packing efficiency is minimum in which of the following ?

(a) Simple cubic unit cell (b) Body centred cubic unit cell

(c) Face centred cubic unit cell (d) Hexagonal close - packed structure

=1 A 9§ P9 dgod e s g ?

(a) 3T G919 U DINGH (b) 3d: HiGd 1Y Thd HISH]

(C) BAB—DbI~=d T-IT Thd HIGHI (d) veafig ffde dAgford axem
Ans. (a)

BIOLOGY - BOTANY

101. Which of the following statements is TRUE?
(a) Intelophase, the nuclear membrane begins to form
(b) In prophase, the sister chromatids separate
(c) Inmetaphase, the sister chromatids begin condensation
(d) In anaphase, the chromosomes move to the spindle equator

frfofaa #§ @ S99 doUF 99 77

(a) JITIRAT H Hsdh Bl B W0 IR & 1l 8

(b) qafawen 3 Hg—edqA A &8I &

(c) HEaTaRT H HE—3GAT I FeA YR &Il ©

(d) ge=TaRen #H, YU dgHHE Nl Bl S B
Ans (a)
Sol.  Nuclear membrane is disappear in the late prophase and reappear in telophase.
102. Smooth Endoplasmic Reticulum (SER) is a major site of synthesis of

(a) Calcium pectate (b) Protein

(c) Lipid (d) Carotenoid

el sl Sferdl féad Feeyo & W g 2

(a) dfezrH e (b) W=

(c) forfus (d) dHRfeASS
Ans (c)

Sol. SER is site of lipid synthesis

103. What has occurred in the following reaction?

O

V4
CH=0 ¢~ OPOH,

CHOH + H,PO, + NAD—> CHOH + NADH,
CH,OPOH, CH,OPO.H,

(a) An important coenzyme has been oxidized

(b) A three-carbon compound has been reduced

(c) Ahigh-energy phosphate bond has been formed
(d) Photophosphorylation has taken place
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Ans

104.

Ans
Sol.

105.

Ans

106.

Ans

freforRaa arfdfshar 4 @ gam & 2
0
7
c|:H =0 c|:—— OPOH,
CHOH + H,PO, + NAD—> CHOH + NADH,

CH,OPO,H, CH,OPO;H,

(a) T HBdYUi WeUGsH 3iferildpd g3f 8

(b) W& AF—dre AE ru=afda gan ©

(C) Ud Se—Foll dlel BIRWES a7 BT FHI0T gaTl &
(d) UBTRI—HIEhIReIT g7 B

(c)

While preparing a hydroponic solution to grow cucumber plants, the salt containing iron (Fe) was
not added by mistake. When the plants started growing the young leaves

(a) of terminal bud were typically hooked

(b) of terminal bud were light green at bases

(c) had their veins, and tissue between veins light green

(d) were chlorotic with principal veins typically green

WR &1 W ST & oY Uh el Hagq §d 9910 99 Teid] 3 S99 @dvT a1dd g (Fe) F81 e
T WE B I W

(a) U Fetl B Xl uirdl faftre wu d sgmaR off

(b) 3TReT Fell B TR RN SMIRT TR Bodb B I DI oY

(c) dwu Ukl @1 BRI R RR1s & 99 & ge® 8¥ I &1 ganl
(d) a1 uRidl BRATEN fbg I RRE faRre wu 4 &4 off

(d)

Deficiency of iron causes interveinal chlorosis in young leaves of plants.

First step in photosynthesis is

(a) joining of 3-carbon atom to form glucose

(b) formation of ATP

(c) ionisation of water

(d) excitement of an electron of chlorophyll molecule by a photon of light

THTY FLAYUT H ForF TRV -1 & ?

(a) 3BT 37T BT JSDHR T[DbIF BT q1

(b) €. 2. 9. &1 i

(C) STl BT ATIATHR]

(d) YT & TP BITH gRT YUERT 377 & Tdb Soidgid Bl ITord Bl
(d)

Genetic drift is most apt to occurin

(a) Tropical climates (b) Marine habitats
(c) High elevations (d) Small populations
AAR® faorer Tad ffde yaor fead siar 2?

(a) IV BicadT STAdryg A (b) g uardi
(c) a1f¥% Sargal H (d) BIY |l |

(d)

/N
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107.

Ans

108.

Ans
Sol.

109.

Ans

110.

Ans

The non-viral method for introduction of nucleic acids into eukaryotic cells is called

(a) Conjugation (b) Transduction (c) Transformation (d) Transfection
Ghadl PIRH A IYfdddd o & yde & fory faury fea Al «1 31 Fer Sran g 2
(a) g™ (b) URHHT (C) BUTIRTT (d) STEHRIA

(d)

The genetic code is characterised as universal because

(a) The same codons code for amino acids in all the cells in a tissue

(b) The same codons code for all the cells in an organism

(c) The code is valid for all the organisms

(d) Initiation and termination codes are same

AMIafIe dHe & AAF & wu H Iafea e S ' & e

(@) T& Sad & 91 SIfGRN § Ui sral & forg 98 Ude, de &Rl ®
(b) U Sild a1 SIfRM@e & oy a8 ude, §e =l ©

(c) e /W 9 & foly A9 &

(d) UR9T IR FHUA G TH & &

(b)

Genetic code is usually similar for all the organisms. For example UUU has information about phenylalanine
. Now this UUU will carry information for phenylalnine in all the organisms.

Cytological observations on meiotic cell division and Mendel's concepts on inheritance were com-
bined togetherto propose

(a) laws of inheritance

(b) chromosome theory of inheritance

(c) law of segregation

(d) law of sex-determination

fr=tfoRaa 3 9 fd uanfad &= @ oIy sreigEl wifier favre & SIfreT fagm e g
I UR HSd DI Ahd-1l HI SISl 4717

(@) 9EIFTC & a9

(b) =ImTel &1 URgE Rygid

(C) GUFHRUT BT 159

(d) ferr g &1 fam

(b)

Which one of te following CAN NOT be patented in biosciences?

(a) Process for developing useful product

(b) Fermentation of products for specific use

(c) New method of treating the industrial waste

(d) Discovery of a new microorganism

fr=fafead # 9 ®9—1 %, Shafds= | U= J8 fhar o1 ddhar?
(a) SUAI SEl & fAHRIa w1 & ufha

(b) faeiy Swa & forg Screl &1 fdhvad

(c) 3ENfTe das & IR B &1 T3 ARG

(d) T GeHSIEIY] B WIS

(d)

/N
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111. InIndia, maximum biodiversity is seen at
(a) Eastern Himalayas and Andaman and Nicobar Islands
(b) Eastern Ghats and Western Ghats
(c) Central and Western Himalayas
(d) Eastern Himalayas and Western Ghats

ARA ¥ If¥mad Sia fafdgar w&f w <E Sl 7 ?
(a) qdi fATerd 3R 3fed 3R MeER g9 998 H
(b) qdi & uf¥=pil el 4
(c) Fieg 3R ul¥=) fewrery #
(d) ydi fewrery wa ufedl =mei
Ans (d)
Sol. Biodiversity rich zones of india including eastern himalaya and western ghats.

112.  Which of the following is NOT considered an ex situ strategy of plant conservation ?

(a) Seed banks (b) Cryo banks
(c) Botanical Gardens (d) Shifting cultivation
uTey et &) freforRed § 9 B U, deR Ao 8 77
(a) 9151 §® (b) fF=1amm 9%
CERSIGEASEIR (d) IR 18

Ans (d)

113. Highest contribution by a greenhouse gas to total global warming is by
(a) Carbon dioxide (b) Methane
(c)CFCs (d)N,O
WP dRas SHA & oy {69 gRays 19 &1 9a9 Afde IreH 8 2
O EIEE RS ESIESIES (b) fer=
(c) €. U, HIgs. (d)N,O

Ans (a)

Sol.  Green house gases centribution in global warming
(@) CO,-60%
(b) Methane — 20%
(c) CFCs — 14%
(d) XI,0-6%

114. In alake pollute with pesticides, the highest level of pesticides will be found in

(a) Fish (b) Hydrophytes
(c) Water birds (d) Plankton
e Rl 4 ugfid e # dredrel & wWR |99 fde &g 9 grm?
(a) Fosferal # (b) STuTEal
(c) et uferat # (d) g H
Ans (c)
Sol. Water — Phytoplankton — Zooplankton
.003ppb .003ppm .04ppm
\2
waterbird <« Large fish <« Small Fish
25ppm 2ppm 0.5ppm
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115.

Ans
Sol.

116.

Ans
Sol.

117.

Ans
118.

Ans
Sol.
119.

Ans

120.

Ans
Sol.

Which one is WROMGLY matched?

(a) IUCN - International Union for Conservation of Nature and Natural Resources
(b) UNEP - United Nationis Environment Panel

(c) IPCC - Intergovenmental Panel on Climate Change

(d)CITES - Conservation on International Trade of Endangered Species
fraferiad % & @1 @) gafea T & ?

(@)ams. g AL T — $eRITA AT BIR HORATE 3Hh ToR Ue TgRd RIS
(b) g. 1. 5. qr. . gIgcs e STARRHT UHd

(c) omg. W &1 L. — seid-Hed Udd 3ifF FogHe oo

(d) 1. emg. €1 3. wd. — HAYM A FEFIAA 23 3MB sooRe R

(b)

UNEP- United nations Environmental Programme

Vegetative propagation in Agave takes place by

(a) Rhizome (b) Leaf buds (c) Bulbil (d) Offset
3rg # adf yade feaw gar g 2
(a) Uha (ORUES (OREEINE (d) TR

(c)

Bubil acts as perinnating organ. It is detached from plant and gives rise to new plant.

How many copies of each chromosome are in an endosperm nucleus and how can you represent
its ploidy ?

(@) One;n (b) Three; 3x (c) Eight; 8n (d) Three; 3n
T YUY Db H YA YU $I bl ufadn 8 3R 3y sHe! iorar &l e &8 eedr?
(@) TF: n (b) A 3x (c) 3TTS: 8n (d) A 3n

(d)

Cleistogamous flowers ensure

(a) Geitonogamy (b) Xenogamy (c) Autogamy (d)Allogamy
arg=ea Wl gy 1 fAfded & 8 7
(a) |otaye (b) STETE (c) g™ (d) T

(c)
In cleistogamy flowers never open so that self pollination is obligatory.
Cotyledon is absentin

(a) Polygonum (b) Vanda (c) Cicer (d) Shorea
doa fead srguiRerd g 87

(a) giforni4 (b) ar=r (c) WIgEY (d) enfear
(BONUS)

Number of cells in mature pllen grains of angiosperms is

(@a)3or6 (b)2 or4 (c)1or2 (d)2o0r3
Mgadisll & AT &1 ¥ fha e gl & ?
(@) 3716 (b) 271 4 (©) 1272 (d) 273

(d)

Mature pollen grain is either two or three called.

/N
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121.  Which one of the following depends on water for sexual reproduction?

(a) Ginkgo (b) Pinus (c) Pteris (d) Maize

frr=faRad & & SI9-—1 Th e goe & fofv ofad R ffR grar 8 2

(@) for=pr (b) grg=T (c) 2R% CEE]
Ans (c)

Sol.  Water is required for fertilization in pteridophytes & bryophytes. In the given options pteris is pteridophyte
while ginkgo and pinus gymnosperms and maize is angiosperm.

122. Embryo culture technique is useful for

(a) Somatic hybridization (b) Recovery of interspecific hybrids
(c) Obtaining transgenic plants (d) Production of secondary metabolites
Yol HaeT B dEe e fog Suarh § ?
(@) PG FHIT (b) IARTSITATY FHRI BT IGoAl
(C) URSIHI UGl &I YTl (d) fgdae SuTg=R ugrelf &1 SdTed
Ans (b)
Sol. Embryo culture is useful for recovery of interspecific hybrids

123. Which of teh following together function as biofertilizer ?

(a) Azolla and BGA (b) Nostoc and Legume

(c¢) Rhizobium and Grasses (d) Salmonella and E-coli

frrfaRad & & @19, Th A1 Sasdid B dRA © 7

(a) TollalT 3R dIShig. (b) FATETH 3R BellaR

(c) rsiIfaed &R = (d) ATHITT 3R §. BIAS
Ans (a)

124. Restriction endonucleases
(a) Make cut at specific positions within the DNA
(b) Join the DNA fragments together
(c) Are autonomoulsy replicating circular extar chromosomal DNA
(d) Are recombinant proteins
yfrde TeSIgfdergst a1 dRd 27
(@) 3. TH. T H fI9Y H W PIE A B
(b) . TH. U. & THS! B UH A SISd B
(c) ¥ W UfdPpicarel gameR AR SITA.Y. IogE ©
(d) ¥ gFafTs U €

Ans (a)
125. Standingcropis
(a) Mineral nutrients in soil (b) Detritus
(c) Timber of commerical value (d) Mass of living organisms
S B F1 Bl § 7
(a) 9&1 # UIY®H I« (b) RS
(c) FIATI® AEd Bl ADBSl (d) >ifa® urforal a1 Hefa
Ans (d)

Sol.  Living biomass present in a given area represents standing Crop.
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126. Phylogeny of a species is related to its
(a) Geographic distribution
(b) Evolutionary history
(c) Reproductive compatibilities with other species
(d) Morphological similarities with other species
fedl Sfa &1 Sfgd, 39 (&9 Uge & walgd & 2
(a) ¥rTferd faaor
(b) fawRI sfasra
(c) 3= SIIfal & A1 Yot Greal
(d) 301 STTferal @ 1T RMBR H AT
Ans (b)
Sol. Howthe present organisms developed from their ancestors is studied in phylogeny
127. Selectthe WRONG statement from the following
(a) Bulliform cells are present in the leaves of monocots
(b) Intrafascicular cambium is spresent in monocots
(c) Phellem, phellogen and phelloderm constitute the periderm
(d) Spring wood and autumn wood constitute an annual ring

fFferfad # & e s B gy

(a) 37Mad @TBIRIGR Yhdlsad] yredl & ufra 3 IuRerd gidl @
(b) ey TN T ol gredi # OBl ®

(C) BT, BT 3R BT R e uR@d §91d &

(d) T BT 3R IRE HIS HaTdmy U aiffid 9o 9991 8

Ans (b)
Sol. Intrafascicular cambium is absent in monocots.
128. Monocot root can be distinguished from dicot root by the
(a) Presence of cambium (b) Number of vascular bundles 2to0 6
(c) Presence of pericycle (d) Larger pith
UH oA oie b Baous o 9 fhae gr fawfea faar s odsar 22
(a) T @1 SuRerfa (b) HaEd gl B =1 2 W 6
(c) IR @1 SuRerfa (d) AR TSI TSl
Ans (d)

Sol.  Monocot root has larger & well developed pith as compared to the dicot root
129. Inacymose type of inflorescence, the growth of the main axis terminates in a

(a) Branch (b) Leaf (c) Flower (d) Bract
JATE YR b JUhd H g 38 $I iy foad qara gl 8 ?
(a) T (b) u=<h (c) g (d) I8~
Ans (c)
Sol.  Ifthe peduncle terminates in to flower than it is called cymose inflorescence

130. Your motheris a trained Botanist. While walking through a local agricultural field, she wanted to
show you a leaf modified for storing food. She dug up the plant

(a) Cactus (b) potato (c) ginger (d) garlic
g A yRIfe aafafds 8 | g P el R Feld g 98 APl Vb WrE WeRYl oy
wUIRA Uil faam = =medl 8 | S99 S99l UIey @igl gne?
(a) dacH (b) 3T (C) IRP (d) &g
Ans (d)
Sol.  Upper leaves of garlic are green & it represents compound bulb in which fleshy leaves store food.
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131.

Ans
Sol.
132.

Ans
Sol.

133.

Ans
Sol.

134.

Ans
Sol.
135.

Ans
Sol.

Which one of the following is WRONGLY matched?

(a) MOSS - Helically arranged leaves

(b) Gymnosperms - Spirally arranged sporophylls
(c) Ascomycetes and Basidiomycetes — Dikaryotic phase dominant

(d) Lycopodium - Seed habit

fe=forRaa § & d—a1 Toa gafed @

(a) 99 — Uil usiord @aierd
(EEIESEIN — el gfte @aierd

(c) TpIHTsRIEN &R IRifsmsRids — fgd=l grazen gwrdY el 2
(d) ergBIgIfeTH ~ EIGIRG I

(d)

seedhabit started from heterosporous pteridophyte selaginella. Lycopodium is homosporous pteridophyte.
Which one of the following is diplontic ?

(a) Fucus (b) Dryopteris
(c) Colletotrichum (d) Polytrichum
fFeforfaa 3 9@ s—w1 e Ggine (Swiifes) 57

(a) TgPd (b) sraTeRE
(c) BlieTETg®H (d) urfergTgH
(a)

Fucus is brown algae and it shows diplontic life cycle as gymnosperms & Ansiosperms.
Dryopteris - pteridophyte - Haplodiplontic

Colletotrichum - Fungi - Haplontic

Polytrichum - Bryophyta - haplodiplontic

Leaves become modified into spines in

(a) Cactus (b) Rose
(c) Citrus (d) Pistia
foa # ufrdl, diel § wUaRd & St 87

(a) HFed (AFTH) (b) TeTE
(c) Rigw (d) fafkear
(a)

Cactus - leaves are modified in to spinas for reducing loss of water by transpiration.

An important role of golgi bodies in formation of

(a) Starch and chlorophyll (b) r-RNA and t-RNA

(c) Ribosomes (d) Glycoproteins and glycolipids
Tifesll B B U wedqul a1 fbds - 4 sl 87

(a) #vs 3R uofeRa (b) MR—_TRYAY. MR -SRI
(c) A (d) TARHIIIEH iR TS HIad]
(d)

Golgibodies initiate glycosylation & glycosidation and form glycoprotein & glycolipids
Enzymes that catalyze the linking together of two components are

(a) Ligases (b) Isomerases (c) Lyases (d) Transferases
Jg fHvads 1 <1 E¥dl & b A i 24 & oy SART o= €, 98 &

(a) TTgioY (b) TSRS OIS (d) STIBRSTY
(a)

Ligases join the two components specialy DNA ligase are responsible for joining of DNA fragments druing
DNA replication.

/N
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136.

Ans
Sol.

137.

Ans
Sol.
138.

Ans
Sol.

139.

Ans
Sol.

140.

Ans
Sol.

141.

The sheath-like structure which encloses the plumbule in a grass caryopsis is

(a) coleoptile (b) coleorhiza (c) scutellum (d) calyptra

gl & HRIAMIE H YIgR, U 3RVl $) A8 bl Gal I uRag eIl 8| 98 31 8 ?
(a) TR =1 (b) TATHR AT (c) TReTH (d) MI®

(a)

The cap like sheath structure of plumule in a grass caryopsis is coleoptile

The fleshy indehiscent fruit which develops from tricarpellary, syncarpous, inferior ovary with
parietal placentation is

(@) Hesperidium (b) Pome (c) Pepo (d) Syconus

reroed), gehrosyl, FeTad] (SHIRR) e & et Ay Sisveard U f[daiid R, peTe
Wl DA § ?

(a) TTSTH (b) 9 (c) g4t (d) |EIsHTE

(c)

In water melon and muskmelon, pepo fruit is found that is fleshy fruit

secondary cell wall in plants differ from primary cell wall in having

(a) Cellulose (b) Hemicellulose

(c) Lignin (d) Pectin

aigl # fefae IfRmer @Ry 9 @1 89 g8 yrafde Bifkier [k 9 @i el 8 2
(a) AegalTst (b) BRI AT

(c) faff= (d) ufee=

(c)

Lignin provides mechanical strength and is found in secondary wall but absent in primary wall

One of the following is NOT present in a fungal cell

(a) Plasma membrane (b) Cell wall

(¢) Nuclear membrane (d) Thylakoid

fr=foRaa § 9 d9-—1 th, Bad HIReT 3§ IuRed T8l grar ?
(a) TTHIHAT (b) BIRT®ET ARy
(c) B=dh f3reel CRIESEIES

(d)

Fungal cell is heterotrophic so that thylokaid wil absent in it.

Which one of the following is a semi-autonomous organelle?

(a) Mitochondria (b) Ribosome (c) Lysosome (d) Mesosome
fr=afafad & & &9 & A eIfdrsT 87

(a) GBI (b) JT3ATHAH (C) ATTHIY (d) wEgdHTa
(a)

Mitochondria & chloroplast are considered as samiautonomous cellorganelles due to presence of DNA,
RNA & 70s ribosomes

Which one of the following statements about photorespiration is WRONG ?
(a) There is no synthesis of sugars

(b) There is no synthesis of ATP

(c) It results in the release of CO, with the utilization of ATP

(d) It occurs in both C, and C, plants

/N
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Ans
Sol.

142.

Ans
Sol.

143.

Ans
Sol.

144.

Ans
Sol.

145.

Ans
Sol.

146.

yaeEadd & favg # fr=fafaa § & e9-1 Uh HUF Tad 287
(a) IHT BT FIATT L1 Bl

(b) TG & G LT Bl

(c) 39 URUHHY LAH. & ST & @ CO, g il &
(d) 78 3R SHi a8 & Uieui # B1aT §

(d)

Photorespiration is found in C, plants only but absent in C, plants

Hydroponic culture is used to

(a) Evaluate rate of degradation of toxic compounds

(b) Control algal growth in water

(c) Determine the role of essential elements in plant growth
(d) Impart disease —resistance in plants

STol 9 fhed T BT § 7

(a) faurch AR & =R &1 &R BT JeaTdhA
(b) TaTAl BT gl R =

(c) urey gfg # Xl dcal & qfrdr &1 FuiRo
(d) uredi # [T FRIg fafdq

(c)

Soil less cnlture is called hydroponics to check the role of essential elements in plant growth

Leaf fall can be induced by the application of

(@) Auxin (b) Cytokinin (c) Abscisic acid (d) Ethylene
uferal &1 AR fas uae & aRa far o ddar g 2
(a) 3iifdsT (b) HATSCIHISAA (c) TR 3t CIEREIS!

(d)

Ethylene causes leaf fall in plants

Conidia are the asexual reproductive structures in

(a) Moss (b) Mushroom (¢) Bread Mould (d) Fern
SO fae! el yse SR 8 7
(a) Hi (b) BEATT (©) N N BHA  (d)

(c)

Conidia are asexual reproductive structure of fungi. In this question bread mould has conidia.

Vegetative reproduction through bulils in gymnospermis seenin

(a) Pinus (b) Ephedra (c) Cycas (d) Gnetum
Mgl § vAUGiore gRT a8 uoH v S e 2
CIRIERE (b) 3R (ORSIEEA (d) ~frew

(c)

Cycas shows vegetative propagation by bulbil as agave plant.

Which one of the following is a WORNG statement

(a) In mosses the gametphyte has a filamentous and a leafy stage

(b) In some pteridophytes the gametophyte is called prothallus

(c) Heterospory in selaginella is considered an important step towards development of seed habit
(d) In gymnosperms the male and female gametophytes are free living

/N
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fr=iforfRad & & @19 91 HoF Tord 2 |

(a) Wl & FHPIGMAIE B Th agHI TS gofdrell arawer gl 2 |

(b) BB SReWISE H FHADIGWE Bl WITH B8l Sl ¢ |

(c) Ryttt 3 fAuHISTIaT a1 W@H1d & [9Hrd &1 R U Hgedqul =Rl A9 Sl 2 |

(d) SFGTEISIAT H R 3fR &1 JHHBIGIE W I8 drel 8 o |
Ans (d)
Sol. In gymnosperms female gametophyte and male gametophyte are not free living
147. Which of the folloiwng is CORRECTLY matched ?

(a) Mucor - Parasite

(b) Punccinia - Symbiotic

(c) Sphagnum - Peat

(d) TMV - Cellular

fe=forRaa & 4 @9 @1 w& gafod 21

(a) RI&R - GRIA!

(b) ufeaf-ran - Fgondt

(c) T - Ue

(d) rwH.AL - BIRG
Ans (c)
Sol. Mucor - saprophyte

Puccinia - parasitic fungus

Sphagnum - Peatmoss
TMYV - acellular virus

148. Selectthe WRONG statement
(a) Mycoplasma Posses a rigid cell wall
(b) Algae are the chief producers of the oceans
(c) Archaebacteria occupy extreme
(d) Eubacteria are regarded the true bacteria
T HAFT B AT B |
(a) ATSHITTSHT § H3R HIf¥rwr kT gl 8 |
(b) FENFRI 4 3dTdA, BECIESICICEE g
(C) ATEISIETY] =RH yIiardl d fard &d ¢ |
(d) goTaropsi &I | Sary] A1 Sl 2 |
Ans (a)
Sol. Mycoplasma is cell wall less smallest living organism (Procaryote)
149. Which one of the following statements is WRONG ?
(a) Conidia are produced endogenously and zoospores exogenously
(b) Claviceps and Neurospora belong to Ascomycetes
(c) Zygospores in Mucor develop by fusion of two gametangia
(d) Smut disease is caused by species of Ustilago

fr=ferRaa & & 19 1 B WTera B |
(a) HOEISTY asid wd 4 R Fediony] &g w4 H e 8 2 |
(b) FATIUTH 3R YRR, TERPIATSHICIS § FHiHd 2 |
(c) "GP H MY, &1 AUl & Herg W faafRid 8 € |
(d) TS I JARTAMN B S & BT BT ¢ |
Ans (a)
Sol. Conidia are formed exogenonsly on condiophores while zoospores are formed endogenously.
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150. Aplant species has true roots. On further study, it observed that it follows haplo-diplontic life cycle.
In which group would you categorize it ?
(a)Algae (b) Bryophyte (c) Pteridophyte (d) Gymnosperm
TP UIEY S H A SIS © | 59D AN JeT H I8 <@ M1 b ¥8 i - fZRE @1 e awb
BT IATERY BT © MY 9 (69 g A i dI ?

(a) 3rara (b) ITATHISE (c) cRewIZE (d) TGS
Ans (c)
Sol. Halplodiplontic life cycle & presence of true roots are the features of pteridophytes.

BIOLOGY - ZOOLOGY
151. Heart failure is the state of the heart when the -
(a) Heart stops beating
(b) Coronary artery that supplies blood to the heart are affected
(c) Artrial muscles are suddenly damaged by an inadequate blood supply

(d) Heart is unable to maintain adequate blood flow through peripheral tissues
FaYUId g2 B 98 Al §

(a) B<Y TSP 4 PR <l 8

(b) B=T g1 Sl g&T b1 ®oR @1 amgflf a=el @ wafad &1 ol §

(c) 3T wER MY & HRUT @MeG eRaa Uil &1 afquw g

(d) geu UREY Jadl & gRT 9aie ®RR Myfd a9 & @ urar g |
Ans (d)

152. Columns of bertini found in kidney are
(a) The portion of renal cortex that extends between the medullary pyramids
(b) Blood vessels arising from peritubular plexus that runs parallel to Henle's loop
(c) Part of the medullary pyramid that extends in calyces

(d) Part of renal pelvis

gFH H U S dlel SRl — WY ©

(a) 99 degze &1 AR S Ay ARfiel & g 96 fawaRa g @

(b) BftR arfef e S ARegger Sferdt ¥ Mdmerdl iR 297t U191 & F9TR il 2 |
(c) weaier fRIfre &1 9FT S Tl % fawaiRa gar B |

(d) gFHIg Ufead &1 9FT
Ans (a)
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153. Select the correct matching of the specific movementin human body with the type of joint involved
Movement Type of joint

(a) Raising of upper - hinge joint arm

(b) Side to side - pivot joint
movement
of head

(c) Raising and - ball and socket joint

lowering of lower

(d) Upward and - Cartilaginous joint
downward
movement of
wrist
A949 IRR @1 fafdre wify & 9afda 9 & geRr &1 F=foRed § 98 g S
fa Y &1 UBR

(@) U Yol Bl - deoll A
IS

(b) R & U dR® - g i
RESCIRIRCIN
RTT

(c) R & =t - dgd Wicord AR
AT BI IS
3R R

(d) Fas B HW - SuRe gad 9@l

AR g wfd
Ans (b)

154. Ina sarcomere, which of the folloiwng part contains thin filaments and no thick filaments?

(a) Aband (b) I band (c) H zone (d) M line
T iR H, fFreferfad 9r # 9 fhE vh # udel dg 81d § iR @IS dg T8l 8 §
(@) T ds (b) 311g s (c) v &l (d) TH =

Ans (b)
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155.

Ans

156.

Ans

157.

Ans

Select the correct statement with respect to human neural system

(a) Somatic neural system relays impulses from CNS to involuntary organs

(b) Automonic neural system transmits impulses from CNS to smooth muscles

(c) Bipolar neurons are found in cerebral cortex

(d) Multipolar neurons are presentin retina of the eye.

Hg AT 97 & Ged H WEl BT DI TG PR

(a) &% df¥er a3 W w3 T 9 sMfsd e I Ml &I 9ol §
(b) W@ dfET dF W U9 w9 e uRR @ i &1 ugardan ©
(c) fagda df@mIRier yiRkaws dege # urll ol 2|

(d) sggdra dfFeIRiey w3 @ e # SuRera &t 2

(b)

Select the correct statement regarding haemophilia

(a) Itis a sex linked dominant disease

(b) Itis a sex linked recessive disease

(c) The amino acid glutamic acid is replaced by valine in this disease

(d) Itis common in both males are females
EHIBITT & Hed § W B2 B YA DI |
(a) 78 U& foiv1 Agar™= gardl I &

(b) I8 T foiv1 el ST 9T 8
(C) 39 T H Tfid rFA—a Ml oFel delld ¥ dgdl T &
(d) I8 I R 3R AT H |GHE Bl ©

(b)

Which of the following is NOT an example of trisomy?

(a) Down's syndrome

(b) Klinefelter's syndrome

(c) Variation in capsule size of Datura

(d) Turner's syndrome

fFrferfRad § 9 S Ua UHIEOAT & ISTERV 81 87

(@) sod R

(b) fremeed Rimg

(C) TRRT & B & AT H ARy

(d) e RiegrH
(d)

/N
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158.

Ans

159.

Ans

160.

Ans
161.

Ans

Predict the sequence of amino acid coded by the following sequence of nucleotides in mMRNA
AUG CCCCCC CCCCCA

(a) Pro-Pro-Pro-Pro (b) Met - Phe - Phe - Phe - Phe

(c) Met - Pro - Pro - Pro - Pro (d) Phe - Phe - Phe - Phe

U 3R 3 & 31eH @l Afawarll #11 Sl mRNA # <Jfaearess & 9 o gad 9 $Ifed & |
AUG CCCCCCCCCCCA

(@) Pro-Pro-Pro-Pro (b) Met - Phe - Phe - Phe - Phe

(c) Met - Pro - Pro - Pro - Pro (d) Phe - Phe - Phe - Phe

(c)

Which respect to lac operon, if lactose is present in medium then it binds to

(a) DNA polymerase causing replication of lac operon genes

(b) inducer which causes expression of lac operon genes
(c) RNA polymerase which then binds to promoter and transcribes the lac operon genes
(d) repressor which does not bind to the operator and RNA polymerase transcribes the genes of

lac operon

o IMTRE & g A Ife oiders giegw ¥ SuRerd 8idr 8 ) g eefdd ar

(a) SYAY UTeiFNS 9 3R o IR ST &1 Ufadiaaer a=dr 8

(b) IRP I S oId AR ST BT fAgdd HRal 8

(C) IR TF U UIGARS A Sl 37 gefch W STEAd BIbR ol SAURT SiH1 DI et (¥ Rl 2 |

(d) SHTHR A S TaRS U AEET T8I Bl 3R AR T T UTTARS o IR S DI el

AT B
(d)

Analogus organs originate by

(a) Convergent Evolution (b) Divergent Evolution
(c) Adaptive Radiation (d) Gene flow

wHgRY S @ Seafy pel @ g 27

(@) AMERT faer (b) 3R famra

(c) argemell fafdxor (d) ST9 varg

(@)

Select the plantin which the stomata remain closed during daytime

(a) Banana (b) Coconut (c) Opuntia (d) Cuscuta

I9 UIEY BT 999 P fad wiier fod & 9wy §99 Ed 8
(@) BTl (b) TTRTe (c) 3Trufeera (d) HEHET
(c)

/N
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162.

Ans

163.

Ans

164.

Ans
165.

How much percentage of the PAR (Photosynthetics Active Radiation) is captured by the normal
green plants?

(a) Lessthan2%  (b)2-10% () 11-25% (d) 30 - 40%

MY 8 UIeY gRT Ul T IR (UdTel A2eivoy Afdhy fafexor) &1 fedan ufiea uwst sin 22
(@) 2% | A (b) 2-10% (c) 11-25% (d) 30-40%

(b)

Which of the following statements about a paricular group of organisms is CORRECT ?

(a) Urachordata - Naturally occur in Malabar Hills

(b) Algae - Smallest proportionate number among plants

(c) Fishes - largest proportion of numbers among vertebrates
(d) Mammals - All are quadrupeds and terrestrial

Uil & Ue fauy 9 9 |afdd Fefefad el § 9 ol9—a1 |8 8 ?
(a) WDRSTT - GRGAA AAER & YsTel H U S & |

(b) RraTe - Ulgi | gl UTd W B Bl B |

(c) wfera - aIdser § 9GB! U HaY &% BT B |
(d) THIRY - I§ AR A 3R B |

(c)

Environmental pollutants such as mercury in an aquatic ecosystem

(a) Stimulates growth of mercury requiring fishes

(b) Is taken up by organisms and biomagnified in the food chain

(c) Is actively absorbed by certain crustanceans but not biomagnified
(d) No effect on the aquatic life

TR Ugud Sl ARR] Udh STeid arivRerfaat

(a) TR BT ATATIRAT dTel] AT BT IgaTed HRAT B |

(b) STal ERT U8 HRA UR A &l o9 3faidd 8l 2 |
(c) Ifsha wu A A9y Hee Rl gR1 e@enfa grar & <ifed S smafda =&l grar 2 |

(d) STefig Sad WR BIs U9 -TE] STerdl 2 |
(b)

What happens to the organic matter on the forest floor ?

(a) In a tropical rain forest, very little accumulates because most organic matter decomposes
rapidly.

(b) In a tropical rain forest, large amount accumulates because decomposition takes four to six
years.

() Inatemperate forest, very little accumulates because most organic matter decomposes rapidly.
(d) In a temperate forest, very little accumulates because of lack of nutrients in the ecosystem.

/N
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Ans
166.

Ans

167.

Ans
168.

Ans

a9 @ T UR TS U o9 YSIAT P FT BIAT & 7

(a) U SO Bfeadfiy — auf a9 # I8 Ydb 78] 8Id1 wiifd /g ugred Siedl 1 uefed 8 9 & |
(b) U IV HICTET — aui 99 H Hg 9gd SII&] UHA 8l O & difd §1a 3fugey H IR ¥ © a9
T S B |

(c) TP AW 99 § Udh UHA Tel eld Fife SuerR oig uaref Seal 81 emgfed 81 o # |

(d) U NAIWT 991 3§ I8 98d HH UHA 8l © Hifh GIRAT H UIYHl B HHT Bl 2 |
(a)

Select the correct option that describes the source of oxytocin and its function

Source Function

(a) Anterior pituitary Parturition and lactation

(b) Ovary Maintenance of corpus luteum and fertilization

(c) Placenta Embryo implantation and parturition

(d) Posterior Pituitary Uterine contractions and lactation

ARSI & FE I 3R BRI &1 quF B dlel [dbed BT g B
I Eau

(a) 39 Iy Y Uqd U4 g Sl

VSR PRUY G[CIH BT TG IW@G AR =

(c) =i¥el YOI BT AR 3R YHq

(d) == gy Ut TR BT Hho Td g AUl

(d)

Copper releasing Intra Uterine Device is an ideal contraceptive because it
(a) renders the uterus unsuitable for implantation

(b) makes the cervix unsuitable to sperms

(c) blocks the entry of sperms into the cervix

(d) suppresses sperm motility thereby reducing their fertilising capacity
dfar wg® oS, Q. ey RIS € | F9ifE

(a) eI BT YT & AU & ford gugad a9 B |

(b) a1 B YR & ford rgugEd I B |

(c) gl & Ha § Y% BT AF A B |

(d) grhoRI @l freierdr dem S9! 1Y eHdT ® HH R Sl B |

(a)

Amniocentesis helps mainly (95%+) in detection of

(@) Acquired Immuno Deficiency Syndrome  (b) Down syndrome

(c) Diabetes (d) Ectopic pregnancy
IeFAe W B (95U +) fpa vgad # Wee idl §

(a) TFETS SR ShIEl g\ (b) ST =g

(c) wigHE (d) 3R T

(b)

/N
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169.

Ans
170.

Ans

171.

Ans

172.

Ans

173.

Ans

In the assisted reproductive technique GIFT, fertilization of egg takes place in

(a) Fallopian tube (b) Uterus

(c) Ascepticin vitro conditions (d) Vagina

HER® S UENfd) S eg % &1 & 3 31vs &1 e $El 8Iar 7 |
(a) fexarz=i (b) TTeTg
CEGEERIERE (d) If

(a)
A female who is homozygous for recessive thalassemia gene (tt) and is normal for colour vision
(XX) is married to a male who is heterozygous for thalassemia gene (Tt) and is colour blind. What

percent of the female progeny will be carrier of colour blindness and also suffer from thalassemia
?

TP S S ST AT S (t) & forg wsgmEeh o 39 gfte (XX) & forg 9y & Ul g
¥ faarfea & S Jamrafiar SiF (Tt & foy fayagmesn &R qui 2 | $9791 Scae A1eT1 |afd &1 @
gfererd auiied @R 1Y & AAIHAT BT a8 BN ?

(@) 0% (b) 25% (c) 50% (d) 75%

(c)

The earliest hominoid fossils belong to

(a) Dryopithecus

(b) Ramapithecus

(c) Australopithecus africanus
(d) Ausstralopithecus robustus

I IRMA™E BIfFAgs Sharem f=fofad § 9 feas sfavfa om 8
(a) sT3aITYIefIHwd

OKERRIE

(c) I alfiefidd ThIbrTd

(d) I eTIfuefieg RiqveH

(a)

The two primary lymphoid organs in human body are

(a) gall bladder and spleen (b) liver and thymus

(c) spleen and bone marrow (d) bone marrow and thymus
A4 ¥TRR H &1 UrIfi® RAeGM 3 I A 8 |

(a) fomerT 3R wfier (b) TPpa 3R ATSHH

(c) wiTET 3R 3rRerosn (d) TRerAwST @R orgHd

(d)

Filariasis is a disease marked by
(a) Appearance of dry scaly lesions on various parts of the body such as skin, nails and scalp
(b) Chronic inflammation of usually the lymphatic vessels of the lower limbs

(¢) Internal bleeding, muscular pain, fever and blockage of the intestinal passage
(d) Stools with excess mucus and blood clots

WIS RIAT AME 0 & fARre deror gy

(a) TRR & fAf=1 91N, @@=, TR 3R WUS! R Yh, Acd! fderfa
(b) Fr=TaR UTal WX, fa=iSRey ¥ SId] diigdmis &l STddbiierd qor
(c) A& FHheArd, URMI # U, SR @R MF-AF H 3[Ry

(d) 9 H A & g dAT TASHT Pl [fH ATAT

(b)

/N
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174. The new breed "Hisardale" developed by cross breeding is that of

(a) Sheep (b) Horse (c) Cow (d) Buffalo

fr=afafaa @ 4 foae dHvo 9 98 o "fearsd” fasRia o .= g |

(@) 7S (b) =TS (c) A (d)
Ans (a)
175. Correctly match the microbe with its industrial product

(a) Trichodema -Cyclosporin A (b) Clostridium - Lactic acid

(c) Aspergillus - Streptokinase (d) Saccharomyces - Acetic acid

e S & A1 SHD SIS IUE & A1 Fel AT DIToIY |

(@) TTSHISH - ATSFATHIRA A (b) FNRETSTH - ifde®d et

(C) TS - ILETBISH (d) AHIHTEHN - tRifed s
Ans (a)

176. With respect to cockroach which of the following statements is correct
(a) Fertilized eggs are stored in spermathecae of female cockroaches
(b) The gizzard is used for storing food
(c) The entire foregut is lined internally by cuticle
(d) Excretory wastes are in the form of urea
pieRIg (fAadeel) & dad ¥ A=foRad 9 9 &9 91 $9 92l ¢ |
(a) Ffe o< QT Biexa & Yh Tifddl 7 wSRA fFI 9 2
(b) Aol (RISTTS) W &1 YR B & BT AT © |
(C) YRT 3MUTH IMER ¥ I ( FfCHel) ¥ ARART &l 2 |

(d) STt eufdre R g 2 |

Ans (c)

177. Name the scientist who proposed that new cells are formed from pre-existing cells
(a) Hugo de Vries (b) Malthias Schleiden and Theodore Schwann
(c) Van Helmont (d) Rudolf virchow
39 991e &1 AW qargd S 3 qarn o & 90 SIREN gdadi SIftreri @ & 9901 B |
(a) g < 99 (b) ATefI TS IR RER @™
(c) a9 THIT (d) werew fav=a

Ans (d)

178. Which of the following molecules moves regularly from the nucleus to the cytoplasm
(a) Glycogen (b) RNA (c) DNA (d) Cholesterol]
FfaRad 3 & B9 I oY) SRR Dad A DIRID- g8 F A A ¢ |
() TATEDITH (b) 3R T U © € T Y (d) Pl

Ans (b)

179. Which of the following statements is NOTCORECT?
(a) The main source of coenzymes are vitamins
(b) Competitive inhibition of enzyme is irreversible
(c) Enzymes have one or more active sites to interact with the substrate
(d) Proenzymes have to be activated by proteolytic enzyme
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Ans

180.

Ans

181.

Ans

o § @ P Bord wdl A R

(a) UsTsdl & 99 wAd faerfis g 2|

(b) ToTsHl &1 Wefl HaAd Al B & |

(c) TSIzl @& U& A1 Afdd Afhy I 81d & difd d fhaeaR & |1t iaRfhdr ox a1
(d) wriSTsHl @1 wifeaifafes vomsw gR1 |fhfia oA emavas B |

(b)

The loss of the secondary, tertiary and quaternary structure of an enzyme brings about
(a) loss of its catalytic activity

(b) thermostability

(c) increase in water solubility

(d) loss in lipid solubility

TP ToigH &1 fgeiias, Jaaed iR I XA & 9% 8 4 I9&T &1 8idl 8 2
(2)SAUXH AfhadT T 81 S 2

(b) AT9 ReRdr &1 Sl 8

(c) Ul ¥ gaoriellerdl 98 SRl §

(d) a1 # goATefiear < & SRl 2
(a)

Select the alternative which gives a correct matching of common names of animals in Column A

with its genus in Column B.

Common Name Genus

A B
(a) Seapen Adamis
(b) Seaanemone Meandrina
(c) Seafan Gorgonia

(d) Portuguese Man of War  Pennatula
I fded B gAY Sl Diem AH 3T T Sigsi & A1 &1 dicd B H AT Y 39 o9 & M
gl el A g 8

A SISk

A B
(a) 99T U ecEin]
OEECIRSIEIE fAfgar
(c) TS B Tt

(d) TGS #49 3 R Lot
(c)

/N

Corporate Office (New Campus):CG Tower, A46 &52, IPIA,Near City Mall, Jhalawar Road, Kota (Raj.)-324005

Resonance Website : www.resonance.ac.in | E-mail : contact@resonance.acin

Educating for better tomorroW [ToIl Free : 1800 200 2244 [1800 258 5555 | CIN: Us0302R J2007PTC 024029

RPMT 27-07-14-S - 53




182. The cell found in the inner surface of bronchioles which move particles in a specific direction over the

epithelium are of

(a) Glandular epithelium (b) Columnar epithelium

(c) Cuboidal epithelium (d) Ciliated epithelium

399 AfTdR @ HIa dd8 IR U STHdTell SIf¥®n St SRl & te fal¥me fesm # doch
2, 9 g yBR & B B

(a) TSl Sume (b) THTPR STHAT
() TTPR YDA (d) UEHATIYHIY SUBHAT
Ans (d)

183. The figure shows structure of two lipids A and B. Identify these

OH AN
LHa
A
Q
o CH,-0-C-R,
i
R, -C=0- ?IH €3
CHy 040K
B
(a) A-triglyceride, B-phospholipid (b) A-lecithin, B-triglyceride
(c) A-cholesterol, B-glycerol (d) A-diglyceride, B-monoglyceride
fag g o # <1 ferfue AR B @iy Iy & |
(a) A-zTsRaiRTsS, B-hivpiferfis (b) A-oixfifeM, B-gisfieiRiss
(C) A-PTET, B-TaRIR T (d) A-STSRRRIZS, B-AMITaARISS
Ans (b)
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184. Two different blood cells are shown in the figure . Identify them and give their function
Blood Cell Function
(a) A-Basophil
(b) A-Eosinophil
(c) B-Platelets
(d) B-Erythrocyte (RBC)

Inflammatory response

Resist infection

Release calcium ions during coagulation
Transport O, and CO,

fag g R A |1 A= geR @1 wER $IRGN il 1= 8 39 Aea 31 ghe R STa1 98
ugaM va & fAy g ¥ |

wR BIfR® Egp)]
(a) A-SIfthe - NP ECEE)
(b) AR - A — RIS

(c) B-wicaie (faury)
(d) B-xa<1] (R.B.C.)
Ans (a)
185. The figure shows a sectional view of the human femal reproductive system with labels A-D. Select

Whed B SR HfedIq Il &1 Q8= HRd 8 |

O, 3R CO, &1

the option with correct identifiction and function.

(a) A-Endometrium

Secretes oxytocin during child birth
(b) B-Perimetrium -
(c) C-Fimbriae -
(d) D-Fallopian tube

exhibits strong contraction during child birth

help in collection of eggs after after ovulation

site for the implantation of blastocyst
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Ans
186.

Ans
187.

Ans

188.

Ans

”“‘”’ Isthmus
v i S-Ampulla D
gﬁ w Enl‘uﬁdjhgmm
;s. *%
i
—~fR

R d E & S 93 B BIe B g3y <A TG 8 | TAH A B D db D AT BT AR A1
g | 99 e &1 gy {5 9E1 99 &1 UgdM & 919 919 9 B Bl A1 {331 ™ ©

(a) A-verifeTq - g & SR SRR & ¥Ad &)dl B |

(b) B-udmfifea - YEd & QIR g Ahad Scd~ Rl 8

(c) C-firssil - TSI B 91 7S] I UHAd B H FBIAT HRal & |
(d) D-BefE et - IREIRRE & JaRiUo & fIy e yeM dxell 2 |
(c)

Crossing over occurs at which stage of meiosis ?

(a) Pachytene (b) Zygotene

(c) Diplotene (d) Diakinesis

AT favTe &1 fs sraRen # S fafsr gar 7 2

(a) U= (¥efeuce) (b) SITeMEE (gTuce)

(¢) Rt (Ree) (@) SR (@R

(a)

Chymotrypsinogen, an enzyme of pancreatic juice, gets directly activated in the small intestine
by

(a) hydrochloric acid (b) enterokinase

(c) trypsin (d) bile

SRR S &1 U YllgH—dbIgHl e faIo &g ond 4 &9 @& gR1 |fhy 81 &1 g 7
(a) BISSIFAIRG 37 (b) TeRIBTSS

(©) feftas (ORESMCIFT)

(c)

The diet of a 20 year old girl included 10 gm of caesin, 20 gm of olive oil adulterated with 8 gm of veg-
etable ghee (hydrogenated oil), 5 gm of sugar and 100 ml water. Assuming complete digestion of the diet,
how many calories shee is likely to get ?

(a) 260 (b) 283 (c) 332 (d) 404

TP I e Bl B & ABR § — 10 UM HAM, 20 IH S &l dat fSrad 8 UM fefrae &l
g ©1 (Bggiorice dd), 5 UM A 3R 100 ml U ofT | IS MR BT GOl uree BIdl @

Al SUBT 3MER A fhadl HARS UTd B9 B T=IM-T & | 2
(a) 260 (b) 283 () 332 (d) 404
(c)

/N
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189.

Ans

190.

Ans

191.

Ans

192.

Which of the following process DOES NOT take place during normal inhalation ?
(a) Stimulation of primary breathing muscles by phrenic and interocostal nerves
(b) Contraction of the diaphragm and external intercostal muscle

(¢) Increase in intra-pulmonary pressure

(d) Increase in the size of the thorapic cavity

AT efa:sady # fr=forlRad & 9 dra—< fosar <181 gl 8 2

(a) BT R SeRPIT dFBRI §RT U4E@ w999 YRR BT &=
(b) ST 3R a8l faRIY s RN b1 THE

(c) 3R BHRA &1 BT IS

(d) &1 BT & IMMHR BT 91

(c)

Place the steps involved in coagulation of blood in humans in the correct order.

a. Conversion of fibrinogen into fibrin

b. Conversion of prothrombin into thrombin

c. Adhesion and aggregation of platelets on damaged vessel

d. Formation of prothrombinase

(@ cdb,a (b) d,c,a,b (¢) cd,a,b (d) c,b,ad
AMG § Jdd — Whed d 84 drell fhamshl &1 I8l $HH adisy |

a. BISEAIo X B89 &1 91

b. WA A AT BT g7

c. ©icelcd &1 el aifedmell | e R W=

d. A BT g1
(@ cd,b,a (b) d,c,a,b (¢) c,d,a,b (d) ¢,b,ad
(a)

If due to some reason the hair cells in the cochlea are damaged, what is likely to happen as a result of
incoming sound waves ?

(a) The endolymph will not vibrate

(b) Nerve impulses will not be generated in the asociated afferent neurons in cochlea

(c) There will be no ripples in the basilar membrane

(d) The stimulation of the tectorial membrane will be normal

I frdl RO pifderan F§ ug S arell 9 PRGN afduwd 8 ol @ a1 Wia” ot g8 @
T & HRUT FIT 8 B GHTEAT § ?

(@) USIfeis H U= 8l I

(b) PIFTI & ST JHATET GRIE H TS A2 IA— 81 B0

(c) IR f3reet! # godal &I &8l

(d) TFIRTA f3reell &1 IGEUT AHRI BT

(b)

Insulin and thyroxine arrive at an organ at the same time. Thyroxine CAUSES AN EFFECT on the organ but
insulin DOES NOT. This is because

(a) Thyroxine is a lipid-soluble hormone and insulin is not

(b) Thyroxine is a local hormone and insulin is a circulating hormone

(c) Thyroxine inhibits the action of insulin

(d) The organ’s cells have receptors for thyroxine but not for insulin

$Yfor 3R ARRIRAT U 377 § U & qHY Ugeid & | ATIRIRIT S 37 Bl Y41 bRl & Sdfd

ggfeT™ &l BT | Ul sHfor) & aifds
(a) YRRIRIT T gHI—geATeMed BRAM 8 Sdfd sgfer &1 8
(b) ATRIRNT Tdh WG ERAM 8 Sdfd $gford tah aRE=RT 8RAN &

/N
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Ans

193.

Ans

194.

Ans

195.

Ans
196.

Ans

() IR gford & B BT Addl ©

(d) 3 B HIRTERT # ARRIFIT & IS B1d & W §gford & =gl

(d)

Given blow are name of hormones, their source and one major function. Find the INCORRECT match.
(a) Cholecystokinin — Gastrointestinal tract— Stimulates secretin of pancreatic juice

(b) Erythropoietin — kidneys— Increases rate of red blood cell formation

(c) Atrial natriuretic Factor-Heart— Increases blood pressure
(d) Melatonin—Pineal gland — Regulation of diurnal rhythm of our body

B & A/ Sd WA 3R 3P U g7 B A1 QY W 2 | S Ted HAT Bl 9argy |
(a) PITUREIBIST — SToX T2 U — SRR 39 & wdu & URA &=l

(b) WATITS A JFb — el BROR FBIRHRI B T4 B T BT I

(c) Tfgaat AfGYRIEH BB — g — K &@ Bl TSR 8

(d) Fetei~ A - fifge uf - gIR IR @) e o &1 fgae

(c)

The scrotum containing testes is suspended from the abdomen because

(a) the optimum temperature for spermatogenesis is less than the normal body temperature

(b) the optimum temperature for spermatogenesis is higher than the normal body temperature

(c) there is not enough space in the pelvic area for the testis
(d) itis easier forthe body to expel sperms during ejaculation

gyl PIY {5 guU Bkl & Iax BT & d18) Achdl & Hifd

(a) YH[A & oy Seaq aIH IRR & AIIHE | FH BT 2

(b) YIS 1 TEAH AYAM ITRR & ATIAE 4 A% 8l ©

(c) S & H quUl & fory I FIH HA BT ©

(d) IRR & TN YIS Bl AT & SR IR BT A 8Idl 2
(a)

Oogenesis begins

(a) After birth (b) Before birth (c) At puberty (d) After puberty
eSS ARA BT 2

(@) 1 ® 95 (b) 51 & UBA (c) TTaARS W (d) TTAR™ & d1g
(b)

Which one of the following sets of characters TRULY defines a living organism ?

(a) Growth and metamorphosis

(b) Metabolism and regeneration

(c) Selfreplication and response to external stimulus

(d) Consciousness and metabolic reactions

FFrferRad faRiyarsli &1 HI9—d1 W8 Sifdd UIforhl &1 |al o’ 9 UIRHINT &_al & ?
(a) 3fg 3R HrETaRY

(b) SUTI=Y 3R YAHcIEH

(c) w@a: ufrpfaa iR a8y I A 3rfhan
(d) T 3R SUTTRY 7fHfdhan
(d)

/N
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197. Archaebacteria, presentinthe gut of ruminants produce biogas from the dung of these animals,
are
(a) Thermoacidophiles
(b) Halophiles
(¢) Methanogens
(d) Thermophiles
I8 MM JFRINAT Sl wiA-E Ui &1 33 4 81d 8, 3R 39 MR § 99 9 &1 IUET I ¢,
DI B ?
(a) THiTRTSIfther
(b) BB
(c) HIATTT
(d) eHifher
Ans (c)
198. Ananimal which is radially symmetrical as adult but bilaterally symmetrical as larva is -
(a) Seallily (b) Sea squid (b) sea hare (d) Seafan
T QT YT, Sl WIS 3aRe H Ry HHfAf BIar © ofik %1 eraven # fgured wwfAfa gar 7, 9
qr e ?
(a) Tge forelt (b) 9 sHEgS (b) TSI TWRANE (d) 9T 99
Ans (a)
199. Identify the correct statement.
(@) Dogfishis a bilaterally symmetrical animal covered with placoid scales
(b) Saw fish is a bilaterally symmetrical animal covered with ctenoid scales
(c) Silverfishis aradially symmetrical animal covered with silvery cycloid scales
(d) Angle fishis a radially symmetrical animal covered with ganoid scales

TE BAUF BT UgATY
(a) T B (S fgured wEfafa wifer @ S uce™ wedl ¥ TH BNl ©
(b) 3TRT Al UHh fgured T@fAfa wifdr & < SHIss Wed! A THI Bl ®
(c) RieR 7ol Uab R aafafa wiftr 8 o Ricadl Asdeiigs el 9 &1 Bl &
(d) UTel A%l Th IRg IHiAfa ufdr & S 9IS Sehl | & BT
Ans (a)
200. Which type of cell junction would be required for cells to communicate with one another ?
(@) Adhering junctions
(b) Desmosomes
(c) Gasjunctions
(d) Tightjunctions
DIRHRI B U TR GUD IR & [ (68 YHR &1 IRGI GG FH1 Maegdhdr gl 2
(a) ISl et
(b) SHATSI=A
(c) TaxTell wfdrt
(d) 33 R
Ans (c)
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(4. The candidate should be very careful while writing the question 4. TieTeff BT OMR IR T3 ¥ Ue —UF WefvT gR&Is Eb‘?
booklet number and its set code and marking the set code in SFIHAIG TAT TS IS FT AHA IAd Tae= | Bl
the OMR sheet. The OMR answer sheet is assessed by Optical Y | OMR IR 95 F ﬁ@ﬁaﬂ‘ﬁﬁ? R aiifesma wa
Mark Reader. Incorrect set code would affect assessment of § & i :
the candidate and he/she will only beresponsible for any . ;i & %Iﬁﬁ%cﬂff RIe aﬁ; a%aﬁm qﬁwgﬁ EF?
incorrect entry of the set code in the OMR sheet. CRIED] ERLED I AT Tl HE PTE BT b1

_ , _ _ W g foy uRenedi € STRard g |
5. The candidates are advised to be very careful in handling the
question bookletand the OMR Answer Sheet. The assessment 5. TRI&Tef} BT Y- URI&T JREIDT d1 OMR SR YR
will be done only on the basis of marking of answers on the B ST H o T CECRSICIIE] Ve B Holrg ) Sl 2 |
OMR Sheet. Hence, the candidates.shouldbe very careful while T Bhael OMR STR Yol ¥ d & AR TR €
marking the answers on the OMR Answer Sheet. SR | o/ g9eneff BT OMR SR 9§ o= daae
6. On OMR sheet there are total 200 tows in 4 columns. Each BB TR P HA BRI AR |
row pertains to one ‘question only. each row corresponding to . . . . . .
a question number there are 4 circles in the answer column, 6. OMR STR T3 % IR Hfer 2vo afdEt € 1 ydd dfed
marked as (a), (b), (¢) and (d). To mark the answer on the TP YT ¥ & gEtad % | 9% UfeRd 3 wed | _
OMR Answer Sheet the candidate should blacken the TR IR & Diem # IR 94 (@) (b) (¢) T (d) 3ifFa B |
appropriate circle with a black ballpoint pen inthe row pertaining geefl Bl OMR IR 93 1 IR 3ifhd &= gg FIcRKIR]
to the concerned question. O & R uee & Fme <ifed dfe  SfRa 9d B wren
7. The questions are set in English as well as in Hindi. Incase of HRAT A |
difference in English and Hindi versions, the English version
will be treated as correct version. The candidates must mark 7. 939 &0 b e —qrer fa=< vmor oy fod ™ & | e
answers accordingly. T fUS wUAReN # fH UHR BT R 9 o+ 3 Refaq
8. No change in the answer once marked is allowed. The # 3l wuTaRoT Eﬁ Bl FE WH SR | I8 & W IR
candidate should blacken only one circle corresponding to qiereff SR @7 sifhd B |
the correct and most appropriate answer. If more than one . R !
circle are found blackened for the answer of one question, it 8. U IR TR BT A @ a1 Eﬁg = el e S
will be deemed as incorrect answer. aﬁaa;EE%% | el SR & ﬁ”g GUSEREI ﬂﬂ;ﬁg{ﬂﬁ
9. For each question 4 marks will be awarded if the candidate 3 f;ﬂ W@i{% T ar E%W 7 & ‘ GITSIW
has darkened only the circle corresponding to the correct ad SR SR il
answer. Zero mark will be awarded if no circle is darkened. In g &% yea & o) 4 aiw &Y IR I gSienef = daer v
all other cases there is no negative marks. q S S 9N S BTt firam ¥ | AfE @1 g et
10. For rough work, space is provided on every even numbered T W% a%;[l:q &% oz s o U
page of the Test booklet. Rough work hould be done there RIMHD STh ST
only. Do not do any rough work elsewhere. 10. = /) B P oy gdiero m & T I TS
11. The candidate should not indulge in any unfair means. Any %/i%number;da%age) q; ¢ RN ;a?f azgrcr
such act would be liable for cancellation of examination and t W | o STE el DT !
other punishment to the candidate in accordance to the 41, qdereff fFel i R & unfair means &1 STAT 2T B9 |
Regulations and Act related to Unfair means. aRemefl & v fred N B B o oer faeed
12. Impersonation, copying, talking to other candidates during the. b Wﬂ;;‘maj’[% unfair mea:; ;}f  fafa
examination, carrying mobile, electronic gadgets, calculator, q e ST S [l STREHT 81|
log tables and any othe_r banne_d it_ems incl_uding any _chit_ o 42, UfIEUY, Thd Bl Wl & IRE o TKeTRri 9
paper other than the original Admission Card in the examination I B WIS SOdeRe QUG BelRIeeR. S
hall, influencing officials for seeking any kind of undue avour, a?[ iﬁ ';2 % N fait ’ g‘ ' BN
smuggling questions in any form out of examination hall or 9% 9 9 bR ) el e w9
tampering or mutilating the question booklet or the OMR BIgAY el Bel H DY B ST St q%ﬁ SIaREI I
Answer Sheet, sitting on a seat not allocated to the candidate YHR & Iferd 1 Bl e H ABIRGT D1 gwfad B,
etc. shall be treated as adoption of unfair means. gl B fedl W 0 7 TR of S A1 weer YR stera
13. If the candidate does not attempt any question, he/she must OMR STR T3l BT & AT Sfrell Hrgl, oy e ordtemedf
report this fact to thelnvigilator. P We R IS e I unfair means HI ITAM AT
14. Immediately on completion of the examination duration the ST
candidate should stop writing. The candidate should not leave . .
the room till thelnvigilator collects the OMR Answer Sheet. 13. TENl TR 0 A B A IPR D IR BT AT T e
The Invigilator shall remove the third copy of the OMR Answer g 1 SU 39 e B SIHBRI FAdeTd Bl <= B |
Sheet and hand it over to the candidate. 14. T9eT &) iy U B W) wenel 1 debre fora Bre
15. No candidate will be allowed to leave the examination hall till 91 TRy | TFderd gRT OMR SR U3 9199 T PR ol
full duration of the examination is complete and OMR Answer T 918 BT Rt TRie Hel 8IS B | TAdeE BT T o
Sheet is received back by the Invigilator. S B fory <o ’
15, foell 01 otemeft @1 wiem srafd WG B9 vd wues gR
OMR STR U3 199 ST FR o< | Jd el Hel Bre- &I
9 argfa e &1 St )
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